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1. &5?< < 7444G< 4<EF<??<=O 

&5?< >E6>5=<O 4<EF<??<=O: D>D<<D>64=<5 G >5GG4NM<EEO ?D>D5EE<>-
=4?L=OE 7=4=<= < =46O>>6, 6 >5?4EF< >>=EFDG>F<< 46F><>5<?5=, F5>D<< < M>E-
??G4F4F<>==OE E6>=EF6, D45>G<< ?D>F5EE4< < D4EG5F4< <5E4=<7<>6 46F>FD4=E-
?>DF=OE ED54EF6.  

�444G< <7GG5=<O 4<EF<??<=O >?D545?ONFEO FD55>64=<O<< >64?<D<>4F<-
>==>= E4D4>F5D<EF<>< =4?D46?5=<O ?>47>F>6>< 23.03.03 < D>D<<DGNF G EFG-
45=F4 7=4=<O 6 >5?4EF<: 

- <7GG5=<O E>EF>O=<O 46F><>5<?L=>7> FD4=E?>DF4 6 $>EE<< < 74 DG556><; 
- <7GG5=<O >>=EFDG>F<< < ?D<=F<?4 45=EF6<O G7?>6 47D574F>6 46F><>5<-

?5= 
- 74>>=>6 46<65=<O 46F><>5<?O; 
-<5F>4>6 D4EG5F4 FO7>6>-E>>D>EF=OE < F>??<6=>-M>>=><<G5E><E E6>=EF6 

46F><>5<?O. 
-?5<5=F>6 D4EG5F4 47D574F>6, G7?>6, E<EF5< < 45F4?5= FD4=E?>DF=OE 

ED54EF6 
7=4FL >5M<5 ?D<=F<?O >>=EFDG>F<6=>7> >D>D<?5=<O FD4=E<<EE<< 46F>-

<>5<?5=; EF5??5=<O; >>D>5>< ?5D544G; 7<4D>4<=4<<G5E><E, 7<4D>>5N5<=OE, 
DD<>F<>==OE, <<?G?LE=OE < M?5>FD<G5E><E 55EEFG?5=G4FOE ?5D544G; >4D44=-
=OE ?5D544G; 7?46=OE ?5D544G; D4744F>G=OE >>D>5>>; ?D<6>44 654GM<E >>?5E; 
<>EF>6; ?>465E>>: G?DG7<E, =4?D46?ONM<E < 45<?D<DGNM<E M?5<5=F>6, EF45<-
?<7<DGNM<E GEFD>=EF6, M?5<5=F>6 D57G?<D>64=<O; >>?5E < H<=; =5EGM<E E<-
EF5<; DG?56>7> G?D46?5=<O >>?5E=OE <4H<=: ><=5<4F<>5 ?>6>D>F4, DG?56OE 
<5E4=<7<>6, DG?56OE ?D<6>4>6, FD46<> 557>?4E=OE DG?56OE >>?>=>>, GE<?<F5-
?5= DG?56OE ?D<6>4>6; E<EF5< F>D<>7=>7> G?D46?5=<O: F>D<>7=OE <5E4=<7<>6, 
F>D<>7=OE ?D<6>4>6, D57G?OF>D>6 F>D<>7=OE E<?, 4=F<5?>><D>6>G=OE E<EF5<; 

ý  G<5FL >?4EE<D<F<D>64FL FD4=E?>DF=>-F5E=>?>7<G5E><5 >><??5>EO 
?D<<5=<F5?L=> > <E M>E??G4F4F<>==O< E6>=EF64< 4?O D47?<G=OE GE?>6<= < 
D56<<>6 M>E??G4F4F<<, 4=4?<7<D>64FL <E >><?>=>6>G=O5 EE5<O; >>?5E=O5 
D>D<G?O; 

ý 6?445FL =46O>4<< ?>EFD>5=<O ><=5<4F<G5E><E, 7<4D46?<G5E><E < ?=56-
<4F<G5E><E EE5< 46F><>5<?5=; 

ý D476<64FL F6>DG5E>>5 <OH?5=<5, 6>E?<FO64FL E4<>EF>OF5?L=>EFL EG6-
45=<=, <=F5D5E > <EF>D<< E>744=<O, D476<F<O < <>45D=<74F<< D47?<G=OE >>=-
EFDG>F<= FD4=E?>DF=>-F5E=>?>7<G5E><E >><??5>E>6, 4 F4>65 65?4=<5 =4 >E=>65 
?D<>5D5F5==OE 7=4=<= E4<><G ?>?OF4FLEO G?GGH<FL EGM5EF6GNM<5 >>=EFDG>-
F<6=O5 D5H5=<O. 

 
2. �5D5G5=L ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5, E>>F=5-

E5==OE E ??4=<DG5<O<< D57G?LF4F4<< >E6>5=<O >5D47>64F5?L=>= ?D>-

7D4<<O 

�D>F5EE <7GG5=<O 4<EF<??<=O =4?D46?5= =4 D>D<<D>64=<5 E?54GNM<E 
>><?5F5=F<= ���� �� < >6?445=<5 E?54GNM<<< D57G?LF4F4<< >5GG5=<O ?> 
4<EF<??<=5: 
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�>4 
>><?5-
F5=F<< 

%>45D64=<5 
>><?5F5=F<< 
(<?< 5U G4EF<) 

�=4<>4F>DO 
>><?5F5=F<= 

$4745? 4<EF<-
??<=O, >55E-
?5G<64NM<= 
MF4?O D>D<<-
D>64=<O >><-

?5F5=F<< 

� D57G?LF4F5 <7GG5=<O GG55=>= 4<EF<??<=O >5GG4NM<5EO 4>?6=O: 
7=4FL G<5FL 6?445FL 

��-1 %?>E>55= 
>?D545?<FL 
?>FD55=>EFL 6 
D4EE>4=OE 
<4F5D<4?4E, 4 
F4>65 D4F<>-
=4?L=O5 
D>D<O ?>4-
45D64=<O < 
6>EEF4=>6?5-
=<O D45>F>-
E?>E>5=>EF< 
�&% < <E 
>><?>=5=F>6 
4?O ?D>6545-
=<O D45>F ?> 
&� < D5<>=FG 
FD4=E?>DF=OE 
ED54EF6. 

��-1 �EGM5EF6-
?O5F <45=F<D<-
>4F<N >>=EFDG>-
F<6=OE >E>55=-
=>EF5= FD4=E-
?>DF=OE ED54EF6 
< (<?<) <E >><-
?>=5=F>6. 

�E=>6O >>=-
EFDG>F<< 46-
F><>5<?5=. 
->E??G4F4F<-
>==O5 E6>=-
EF64 &<&&�� 
$45>G<5 ?D>-
F5EEO < M?5-
<5=FO D4EG5F4 
47D574F>6 46-
F><>5<?O 

>>=EFDG>F<6=O5 
>E>55==>EF< 
FD4=E?>DF=OE 
ED54EF6 < (<?<) 
<E >><?>=5=F>6. 

�EGM5EF6?OFL <45=F<-
D<>4F<N >>=EFDG>F<6-
=OE >E>55==>EF5= 
FD4=E?>DF=OE ED54EF6 
< (<?<) <E >><?>=5=-
F>6. 

=46O>4<< >EGM5EF6-
?5=<O <45=F<D<>4-
F<= >>=EFDG>F<6=OE 
>E>55==>EF5= FD4=E-
?>DF=OE ED54EF6 < 
(<?<) <E >><?>=5=-
F>6. 

��-2 �D>6>4<F 
>F5=>G F5E=<>>-
M>E??G4F4F<>=-
=OE E6>=EF6 
FD4=E?>DF=OE 
ED54EF6 < (<?<) 
<E >><?>=5=F>6. 

�E=>6O >>=-
EFDG>F<< 46-
F><>5<?5=. 
->E??G4F4F<-
>==O5 E6>=-
EF64 &<&&�� 
$45>G<5 ?D>-
F5EEO < M?5-
<5=FO D4EG5F4 
47D574F>6 46-
F><>5<?O  

F5E=<>>-
M>E??G4F4F<>=-
=O5 E6>=EF64 
FD4=E?>DF=OE 
ED54EF6 < <E 
M>E??G4F4F<< 
(<?<) <E >><?>-
=5=F>6. 

�D>6>4<FL >F5=>G 
F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < <E >><?>-
=5=F>6. 

=46O>4<< ?D>6545-
=<O >F5=>< F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF-
=OE ED54EF6 < <E 
>><?>=5=F>6 ?D>F5E-
E5 <E M>E??G4F4F<< 

��-11 �EG-
M5EF6?O5F 6O5>D 
4>>G<5=F4F<<, 
GEF4=46?<64N-
M5= FD55>64=<O 
> 4>?GEF<<><G 
7=4G5=<N >>=-
EFDG>F<6=OE 
?4D4<5FD>6 < 
E4D4>F5D<EF<> 
47D574F>6 < 45F4-
?5= FD4=E?>DF-
=OE ED54EF6. 

�E=>6O >>=-
EFDG>F<< 46-
F><>5<?5=. 
->E??G4F4F<-
>==O5 E6>=-
EF64 &<&&�� 
$45>G<5 ?D>-
F5EEO < M?5-
<5=FO D4EG5F4 
47D574F>6 46-
F><>5<?O 

4>>G<5=F4F<N, 
GEF4=46?<64N-
MGN FD55>64=<O 
> 4>?GEF<<><G 
7=4G5=<N >>=-
EFDG>F<6=OE 
?4D4<5FD>6 < 
E4D4>F5D<EF<> 
47D574F>6 < 45F4-
?5= FD4=E?>DF-
=OE ED54EF6. 

�EGM5EF6?OFL 6O5>D 
4>>G<5=F4F<<, GEF4-
=46?<64NM5= FD55>64-
=<O > 4>?GEF<<><G 
7=4G5=<N >>=EFDG>-
F<6=OE ?4D4<5FD>6 < 
E4D4>F5D<EF<> 47D574-
F>6 < 45F4?5= FD4=E-
?>DF=OE ED54EF6. 

�46O>4<< 6O5>D4 
4>>G<5=F4F<<, GEF4-
=46?<64NMGN FD55>-
64=<O > 4>?GEF<<><G 
7=4G5=<N >>=EFDG>-
F<6=OE ?4D4<5FD>6 < 
E4D4>F5D<EF<> 47D5-
74F>6 < 45F4?5= 
FD4=E?>DF=OE 
ED54EF6. 

 
3. �5EF> 4<EF<??<=O 6 EFDG>FGD5 >5D47>64F5?L=>= ?D>7D4<<O 

�<EF<??<=4 6E>4<F 6 547>6GN G4EFL ?D>D5EE<>=4?L=>7> F<>?4 �1. �.03 
�<EF<??<=4 >?<D45FEO =4 E>45D64=<5 E?54GNM<E GG55=OE 4<EF<??<=: 

D<7<>4; <4F5<4F<>4; E<<<O; 46F><>5<?L=O5 46<74F5?<;  >><?LNF5D=>5 <>45?<-
D>64=<5 <=65=5D=OE 7444G; =4G5DF4F5?L=4O 75><5FD<O < <=65=5D=4O 7D4D<>4; 
E<?>6O5 47D574FO; M?5>FD>F5E=<>4 < M?5>FD>>5>DG4>64=<5 &<&&��; >5M4O 
M?5>FD>F5E=<>4 < M?5>FD>=<>4; F5>D5F<G5E>4O <5E4=<>4; F5>D<O <5E4=<7<>6 < 
<4H<=; 45F4?< <4H<= < >>=EFDG<D>64=<5; F5??>F5E=<>4 < 7<4D46?<>4. 

�<EF<??<=4 O6?O5FEO >?>D>= 4?O <7GG5=<O E?54GNM<E GG55=OE 4<EF<-
??<=: F5E=<G5E>4O M>E??G4F4F<O 46F><>5<?5=; >E=>6O ?D><76>4EF64 < D5<>=F4 
46F><>5<?5=; ?D>5>F<D>64=<5 ?D54?D<OF<= 46F><>5<?L=>7> FD4=E?>DF4; F5E=>-
?>7<G5E><5 ?D>F5EEO F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 &<&&��. 

$4745?O (<>4G?<) 4<EF<??<=O < <564<EF<??<=4D=O5 E6O7< E ?>E?54GN-
M<<< 4<EF<??<=4<< 

7 
?/? 

�4<<5=>64=<5 >55E?5G<645<OE 
(?>E?54GNM<E) 4<EF<??<= 

7 7 D4745?>6 44==>= 4<E-
F<??<=O, =5>5E>4<<OE 4?O 

<7GG5=<O (?>E?54GNM<E) 
>55E?5G<645<OE 4<EF<??<= 

1 2 
1. �5F4?< <4H<= < >E=>6O >>=EFDG<D>64=<O + + 
2. $5H5=<5 <=65=5D=OE 7444G =4 -�� + + 
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3. �6F><>5<?L=O5 46<74F5?< + + 
4. &<?46 < M>E??G4F4F<O F5E=>?>7<G5E>>7> >5>DG4>64=<O + + 
5. �6F><4F<7<D>64==>5 ?D>5>F<D>64=<5 =4 FD4=E?>DF5 + + 

6. ->E??G4F4F<O 46F><>5<?L=OE 4>D>7 + - 

7. �D><76>4EF65==>-F5E=>?>7<G5E>4O <=DD4EFDG>FGD4 ?D54?D<OF<= - + 

8. �>=EFDG>F<O < M>E??G4F4F<>==O5 E6>=EF64 &<&&�� + + 
9. &5E=>?>7<G5E><5 ?D>F5EEO F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 

&<&&�� 
+ + 

10. �D>5>F<D>64=<5 ?D54?D<OF<= 46F><>5<?L=>7> FD4=E?>DF4 + - 
11. �D4>F<>4 ?> ?>?GG5=<N ?5D6<G=OE ?D>D5EE<>=4?L=OE G<5=<= < 

=46O>>6, 6 F>< G<E?5 ?5D6<G=OE G<5=<= < =46O>>6 =4GG=>-
<EE?54>64F5?LE>>= 45OF5?L=>EF< 

+ + 

12. �D4>F<>4 ?> ?>?GG5=<N ?D>D5EE<>=4?L=OE G<5=<= < >?OF4 ?D>D5EE<-
>=4?L=>= 45OF5?L=>EF< 

+ + 

13. &5E=>?>7<G5E>4O ?D4>F<>4 + + 
14. �D544<??><=4O ?D4>F<>4 + + 
15. �>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 ��$ + + 

 
4. �5N5< 4<EF<??<=O 6 74G5F=OE 54<=<F4E E G>474=<5< >>?<G5EF64 4>445-

<<G5E><E G4E>6, 6O45?5==OE =4 >>=F4>F=GN D45>FG E >5GG4NM<<<EO E 

?D5?>4464F5?5< (?> 6<44< GG55=OE 74=OF<=) < =4 E4<>EF>OF5?L=GN D45>FG 

>5GG4NM<EEO 

�5M4O FDG4>5<>>EFL (>5N5<) 4<EF<??<=O E>EF46?O5F 12 74G5F=OE 54<-
=<F, 432 4>445<<G5E><E G4E4. 

�5NU< 4<EF<??<=O ?> 6<44< GG55=OE 74=OF<= (6 G4E4E). 
 

�G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO 
�E57> 
G4E>6 

%5<5EFD 

4 5 6 
�5M4O FDG4>5<>>EFL: G4EO 432 180 108 144 

74G5F=O5 54<=<FO 12 5 3 4 

�G4<F>D=O5 74=OF<O (6E57>), 6 F. G.: 176 64 48 64 

�5>F<< 96 32 32 32 
?D4>F<G5E><5 74=OF<O (��) 48 - 16 32 
?45>D4F>D=O5 D45>FO (�$) 32 32 - - 
%4<>EF>OF5?L=4O D45>F4, 6 F. G.: 220 116 60 44 

?>47>F>6>4 > ?45>D4F>D=>-?D4>F<G5E><< 74=OF<O< 25 10 10 5 
>GDE>6>= ?D>5>F 24 - - 24 
E4<>EF>OF5?L=>5 <7GG5=<5 F5< 146 96 40 10 
?>47>F>6>4 > F5>GM5<G >>=FD>?N 7=4=<= 25 10 10 5 

�D><56GF>G=4O 4FF5EF4F<O 
74G5F - 74G5F 74G5F - 
M>74<5= 36 - - 36 

 

�G=>-74>G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO 
�E57> 
G4E>6 

%5<5EFD 
5 6 7 

�5M4O FDG4>5<>>EFL: G4EO 432 180 108 144 

74G5F=O5 54<=<FO 12 5 3 4 

�G4<F>D=O5 74=OF<O (6E57>), 6 F. G.: 122 48 38 36 

�5>F<< 68 24 26 18 
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?D4>F<G5E><5 74=OF<O (��) 30 - 12 18 
?45>D4F>D=O5 D45>FO (�$) 24 24 - - 
%4<>EF>OF5?L=4O D45>F4, 6 F. G.: 276 132 70 72 

?>47>F>6>4 > ?45>D4F>D=>-?D4>F<G5E><< 74=OF<O< 30 10 10 10 
>GDE>6>= ?D>5>F 22 - - 22 
E4<>EF>OF5?L=>5 <7GG5=<5 F5< 192 112 50 30 
?>47>F>6>4 > F5>GM5<G >>=FD>?N 7=4=<= 30 10 10 10 

�D><56GF>G=4O 4FF5EF4F<O 
74G5F - 74G5F 74G5F - 
M>74<5= 36 - - 36 

 
�4>G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO 
�E57> 
G4E>6 

�GDE 
2 3 4 

�5M4O FDG4>5<>>EFL: G4EO 432 108 180 144 

74G5F=O5 54<=<FO 12 3 5 4 

�G4<F>D=O5 74=OF<O (6E57>), 6 F. G.: 46 14 18 14 

�5>F<< 20 6 8 6 
?D4>F<G5E><5 74=OF<O (��) 12 4 - 8 
?45>D4F>D=O5 74=OF<O (��) 14 4 10 - 
%4<>EF>OF5?L=4O D45>F4, 6 F. G.: 350 94 162 94 

?>47>F>6>4 > ?45>D4F>D=>-?D4>F<G5E><< 74=OF<O< 60 20 20 20 
>GDE>6>= ?D>5>F 24 - - 24 
E4<>EF>OF5?L=>5 <7GG5=<5 F5< 206 54 122 30 
?>47>F>6>4 > F5>GM5<G >>=FD>?N 7=4=<= 60 20 20 20 

�D><56GF>G=4O 4FF5EF4F<O 
74G5F - 74G5F 74G5F - 
M>74<5= 36 - 36 

 
5. %>45D64=<5 4<EF<??<=O 

5.1 $4745?O (<>4G?<) 4<EF<??<=O < 6<4O 74=OF<= 6 G4E4E 

�G=4O D>D<4 >5GG5=<O 

7 
?/? 

�4<<5=>64=<5 D4745?>6 
�E57> 

(G4E>6) 

�G4<F>D=O5 
74=OF<O (G4E) 

%4<>EF>-
OF5?L=4O 
D45>F4 �5>F<< �� �� 

%5<5EFD 4 
1. �E=>6O >>=EFDG>F<< 46F><>5<?O 180 32 - 32 116 

%5<5EFD 5 
2. ->E??G4F4F<>==O5 E6>=EF64 &<&&�� 108 32 16 - 60 

%5<5EFD 6 
3. $45>G<5 ?D>F5EEO < M?5<5=FO D4EGUF4 

47D574F>6 46F><>5<?O 
108 32 32 - 44 

 �D><56GF>G=4O 4FF5EF4F<O (M>74<5=) 36 - - - 36 
�E57> 432 96 48 32 256 

�G=>-74>G=4O D>D<4 >5GG5=<O 

7 
?/? 

�4<<5=>64=<5 D4745?>6 
�E57> 

(G4E>6) 

�G4<F>D=O5 
74=OF<O (G4E) 

%4<>EF>-
OF5?L=4O 
D45>F4 �5>F<< �� �� 

%5<5EFD 5 
1. �E=>6O >>=EFDG>F<< 46F><>5<?O 180 24 - 24 132 

%5<5EFD 6 



8 

 ->E??G4F4F<>==O5 E6>=EF64 &<&&�� 108 26 12 - 70 
%5<5EFD 7 

2. $45>G<5 ?D>F5EEO < M?5<5=FO D4EGUF4 
47D574F>6 46F><>5<?O 

108 18 18 - 72 

 �D><56GF>G=4O 4FF5EF4F<O (M>74<5=) 36 - - - 36 
�E57> 432 68 30 24 310 

 
�4>G=4O D>D<4 >5GG5=<O 

7 
?/? 

�4<<5=>64=<5 D4745?>6 
�E57> 

(G4E>6) 

�G4<F>D=O5 
74=OF<O (G4E) 

%4<>EF>-
OF5?L=4O 
D45>F4 

�5>F<< �� ��  
�GDE 2 

1. �E=>6O >>=EFDG>F<< 46F><>5<?O 108 6 4 4 94 
�GDE 3 

 ->E??G4F4F<>==O5 E6>=EF64 &<&&�� 180 8  10 162 
�GDE 4 

2. $45>G<5 ?D>F5EEO < M?5<5=FO D4EGUF4 
47D574F>6 46F><>5<?O  

108 6 8  94 

 �D><56GF>G=4O 4FF5EF4F<O (M>74<5=) 36 - - - 36 
�E57> 432 20 12 14 386 

 
5.2 &5<4F<G5E><= ??4= ?5>F<= 

�G=4O D>D<4 >5GG5=<O 
7 
?/? 

&5<O ?5>F<= 
�>?<G5EF6> 

G4E>6 
%5<5EFD 4 

�E=>6O >>=EFDG>F<< 46F><>5<?O 
1. �6545=<5. �>46<6=>= E>EF46 46F><>5<?L=>7> FD4=E?>DF4. 2 
2. &D4=E<<EE<O 46F><>5<?O. 10 
3. �>?5E=O= 46<6<F5?L. 8 
4. $G?56>5 G?D46?5=<5. 4 
5. &>D<>7=>5 G?D46?5=<5. 4 
6. �5EGM4O E<EF5<4 4 

%5<5EFD 5 
->E??G4F4F<>==O5 E6>=EF64 &<&&�� 

1. �6545=<5. ->E??G4F4F<>==O5 E6>=EF64 46F><>5<?5= 1 
2. 'E?>6<O M>E??G4F4F<<. 1 
3. &O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=. 10 
4. &>D<>7=O5 E6>=EF64 4 
5. &>??<6=4O M>>=><<G=>EFL 4 
6. �D>E>4<<>EFL. 2 
7. �D>5>F<D>6>G=O= FO7>6O= D4EG5F. 2 
8. '?D46?O5<>EFL. 2 
9. 'EF>=G<6>EFL. 2 

10. �?46=>EFL E>44. 2 
11. ->E?5D<<5=F4?L=O5 <5F>4O >?D545?5=<O M>E??G4F4F<>==OE E6>=EF6. 2 

%5<5EFD 6 
$45>G<5 ?D>F5EEO < M?5<5=FO D4EGUF4 47D574F>6 46F><>5<?O 
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1. �6F><>5<?L=4O ?D><OH?5==>EFL < 46F><>5<?L=O= FD4=E?>DF. 2 

2. &D55>64=<O > >>=EFDG>F<O< 46F><>5<?5= 2 

3. &D4=E<<EE<O 2 

4. %F5??5=<5 4 

5. �>D>5>4 ?5D544G, D4744F>G=4O >>D>5>4 2 

6. �4D44==4O ?5D544G4 
2 

7. �?46=4O ?5D544G4 

8. �<DD5D5=F<4? 
2 

9. �D<6>4 654GM<E < G?D46?O5<OE >>?5E. 

10. $G?56>5 G?D46?5=<5. 2 

11. &>D<>7=>5 G?D46?5=<5. 4 

12. �>465E><. 4 

13. �>?5E4 < H<=O. 2 

14. �>EFO. 2 

15. �5EGM<5 E<EF5<O 46F><>5<?5=. 2 
�E57> 96  

 

�G=>-74>G=4O D>D<4 >5GG5=<O 
7 
?/? 

&5<O ?5>F<= 
�>?<G5EF6> 

G4E>6 
%5<5EFD 5 

�E=>6O >>=EFDG>F<< 46F><>5<?O 
1. �6545=<5. �>46<6=>= E>EF46 46F><>5<?L=>7> FD4=E?>DF4. 4 
2. &D4=E<<EE<O 46F><>5<?O. 4 
3. �>?5E=O= 46<6<F5?L. 4 
4. $G?56>5 G?D46?5=<5. 4 
5. &>D<>7=>5 G?D46?5=<5. 4 
6. �5EGM4O E<EF5<4 4 

%5<5EFD 6 
->E??G4F4F<>==O5 E6>=EF64 &<&&�� 

1. �6545=<5. ->E??G4F4F<>==O5 E6>=EF64 46F><>5<?5= 2 
2. 'E?>6<O M>E??G4F4F<<. 2 
3. &O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=. 6 
4. &>D<>7=O5 E6>=EF64 2 
5. &>??<6=4O M>>=><<G=>EFL 2 
6. �D>E>4<<>EFL. 2 
7. �D>5>F<D>6>G=O= FO7>6O= D4EG5F. 2 
8. '?D46?O5<>EFL. 2 
9. 'EF>=G<6>EFL. 2 

10. �?46=>EFL E>44. 2 
11. ->E?5D<<5=F4?L=O5 <5F>4O >?D545?5=<O M>E??G4F4F<>==OE 

E6>=EF6. 
2 

%5<5EFD 7 

$45>G<5 ?D>F5EEO < M?5<5=FO D4EGUF4 47D574F>6 46F><>5<?O 

1. �6F><>5<?L=4O ?D><OH?5==>EFL < 46F><>5<?L=O= FD4=E?>DF. 1 
2. &D55>64=<O > >>=EFDG>F<O< 46F><>5<?5= 1 
3. &D4=E<<EE<O 2 
4. %F5??5=<5 1 
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5. �>D>5>4 ?5D544G, D4744F>G=4O >>D>5>4 2 
6. �4D44==4O ?5D544G4 2 
7. �?46=4O ?5D544G4 1 
8. �<DD5D5=F<4? 1 
9. �D<6>4 654GM<E < G?D46?O5<OE >>?5E. 1 

10. $G?56>5 G?D46?5=<5. 1 
11. &>D<>7=>5 G?D46?5=<5. 1 
12. �>465E><. 1 
13. �>?5E4 < H<=O. 1 
14. �>EFO. 1 
15. �5EGM<5 E<EF5<O 46F><>5<?5=. 1 

�E57> 68 

 

�4>G=4O D>D<4 >5GG5=<O 
7 
?/? 

&5<O ?5>F<= 
�>?<G5EF6> 

G4E>6 
�GDE 2 

�E=>6O >>=EFDG>F<< 46F><>5<?O 
1. �6545=<5. �>46<6=>= E>EF46 46F><>5<?L=>7> FD4=E?>DF4. 1 
2. &D4=E<<EE<O 46F><>5<?O. 1 
3. �>?5E=O= 46<6<F5?L. 1 
4. $G?56>5 G?D46?5=<5. 1 
5. &>D<>7=>5 G?D46?5=<5. 1 
6. �5EGM4O E<EF5<4 1 

�GDE 3 
->E??G4F4F<>==O5 E6>=EF64 &<&&�� 

1. �6545=<5. ->E??G4F4F<>==O5 E6>=EF64 46F><>5<?5= 0,5 
2. 'E?>6<O M>E??G4F4F<<. 0,5 
3. &O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=. 1 
4. &>D<>7=O5 E6>=EF64 0,5 
5. &>??<6=4O M>>=><<G=>EFL 0,5 
6. �D>E>4<<>EFL. 0,5 
7. �D>5>F<D>6>G=O= FO7>6O= D4EG5F. 0,5 
8. '?D46?O5<>EFL. 1 
9. 'EF>=G<6>EFL. 1 

10. �?46=>EFL E>44. 1 
11. ->E?5D<<5=F4?L=O5 <5F>4O >?D545?5=<O M>E??G4F4F<>==OE 

E6>=EF6. 
1 

�GDE 4 
$45>G<5 ?D>F5EEO < M?5<5=FO D4EGUF4 47D574F>6 46F><>5<?O 

1. �6F><>5<?L=4O ?D><OH?5==>EFL < 46F><>5<?L=O= FD4=E?>DF. 0,25 
2. &D55>64=<O > >>=EFDG>F<O< 46F><>5<?5= 0,25 
3. &D4=E<<EE<O 0,25 
4. %F5??5=<5 0,25 
5. �>D>5>4 ?5D544G, D4744F>G=4O >>D>5>4 0,5 
6. �4D44==4O ?5D544G4 0,5 
7. �?46=4O ?5D544G4 0,5 
8. �<DD5D5=F<4? 0,5 
9. �D<6>4 654GM<E < G?D46?O5<OE >>?5E. 0,5 

10. $G?56>5 G?D46?5=<5. 0,5 
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11. &>D<>7=>5 G?D46?5=<5. 0,5 
12. �>465E><. 0,5 
13. �>?5E4 < H<=O. 0,5 
14. �>EFO. 

0,5 
15. �5EGM<5 E<EF5<O 46F><>5<?5=. 

�E57> 20 

 
5.3 &5<4F<G5E><= ??4= ?D4>F<G5E><E 74=OF<= 

�G=4O D>D<4 >5GG5=<O 
7 
?/? 

&5<O ?D4>F<G5E><E 74=OF<= 
�>?<G5EF6> 

G4E>6 
%5<5EFD 5 

1. &O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=. 4 
2. &>D<>7=O5 E6>=EF64. 4 
3. &>??<6=4O M>>=><<G=>EFL  2 
4. �D>E>4<<>EFL. 2 
5. '?D46?O5<>EFL < GEF>=G<6>EFL. 2 
6. �?46=>EFL E>44. 2 

�E57> 74 5 E5<5EFD 16 

%5<5EFD 6 
1. &D4=E<<EE<O 46F><>5<?O 4 
2. %F5??5=<5 4 
3. �>D>5>4 ?5D5<5=O ?5D544G 4 
4. �<4D><5E4=<G5E>4O >>D>5>4 ?5D544G 4 
5. �4D44==4O < 7?46=4O ?5D544G<. 4 
6. �<DD5D5=F<4? < ?>?G>E< 4 
7. �>465E>< 2 
8. �>?5E4 < H<=O. �>EFO. 2 
9. $G?56>5 G?D46?5=<5 2 

10. &>D<>7=>5 G?D46?5=<5 2 
 �E57> 74 6 E5<5EFD  

�E57> 48 

 
�G=>-74>G=4O D>D<4 >5GG5=<O 

7 
?/? 

&5<O ?D4>F<G5E><E 74=OF<= 
�>?<G5EF6> 

G4E>6 
%5<5EFD 6 

1. &O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=. 2 
2. &>D<>7=O5 E6>=EF64. 2 
3. &>??<6=4O M>>=><<G=>EFL  2 
4. �D>E>4<<>EFL. 2 
5. '?D46?O5<>EFL < GEF>=G<6>EFL. 2 
6. �?46=>EFL E>44. 2 

�E57> 74 6 E5<5EFD 12 

%5<5EFD 7 
1. &D4=E<<EE<O 46F><>5<?O 1 
2. %F5??5=<5 1 
3. �>D>5>4 ?5D5<5=O ?5D544G 2 
4. �<4D><5E4=<G5E>4O >>D>5>4 ?5D544G 2 
5. �4D44==4O < 7?46=4O ?5D544G<. 2 
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6. �<DD5D5=F<4? < ?>?G>E< 2 
7. �>465E>< 2 
8. �>?5E4 < H<=O. �>EFO. 2 
9. $G?56>5 G?D46?5=<5 2 

10. &>D<>7=>5 G?D46?5=<5 2 
 �E57> 74 7 E5<5EFD 18 

�E57> 30 

 
�4>G=4O D>D<4 >5GG5=<O 

7 
?/? 

&5<O ?D4>F<G5E><E 74=OF<= 
�>?<G5EF6> 

G4E>6 
�GDE 2 

1. &O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=. 0,5 
2. &>D<>7=O5 E6>=EF64. 0,5 
3. &>??<6=4O M>>=><<G=>EFL  0,5 
4. �D>E>4<<>EFL. 0,5 
5. '?D46?O5<>EFL < GEF>=G<6>EFL. 1 
6. �?46=>EFL E>44. 1 

�E57> 74 2 >GDE 4 

�GDE 4 
1. &D4=E<<EE<O 46F><>5<?O 0,5 
2. %F5??5=<5 0,5 
3. �>D>5>4 ?5D5<5=O ?5D544G 0,5 
4. �<4D><5E4=<G5E>4O >>D>5>4 ?5D544G 0,5 
5. �4D44==4O < 7?46=4O ?5D544G<. 1 
6. �<DD5D5=F<4? < ?>?G>E< 1 
7. �>465E>< 1 
8. �>?5E4 < H<=O. �>EFO. 1 
9. $G?56>5 G?D46?5=<5 1 

10. &>D<>7=>5 G?D46?5=<5 1 
 �E57> 74 4 >GDE 8 

�E57> 12 

 
5.4 &5<4F<G5E><= ??4= ?45>D4F>D=OE 74=OF<= 

�G=4O D>D<4 >5GG5=<O 
7 
?/? 

&5<O ?45>D4F>D=OE 74=OF<= 
�>?<G5EF6> 

G4E>6 
%5<5EFD 4 

1. &D4=E<<EE<O 46F><>5<?O 4 
2. %F5??5=<5 4 
3. �>D>5>4 ?5D5<5=O ?5D544G 4 
4. �<4D><5E4=<G5E>4O >>D>5>4 ?5D544G 2 
5. �4D44==4O < 7?46=4O ?5D544G<. 2 
6. �<DD5D5=F<4? < ?>?G>E< 2 
7. �>465E>< 2 
8. �>?5E4 < H<=O. �>EFO. 4 
9. $G?56>5 G?D46?5=<5 4 

10. &>D<>7=>5 G?D46?5=<5 4 
�E57> 32 

 



13 

�G=>-74>G=4O D>D<4 >5GG5=<O 
7 
?/? 

&5<O ?45>D4F>D=OE 74=OF<= 
�>?<G5EF6> 

G4E>6 
%5<5EFD 5 

1. &D4=E<<EE<O 46F><>5<?O 2 
2. %F5??5=<5 2 
3. �>D>5>4 ?5D5<5=O ?5D544G 2 
4. �<4D><5E4=<G5E>4O >>D>5>4 ?5D544G 2 
5. �4D44==4O < 7?46=4O ?5D544G<. 2 
6. �<DD5D5=F<4? < ?>?G>E< 2 
7. �>465E>< 2 
8. �>?5E4 < H<=O. �>EFO. 2 
9. $G?56>5 G?D46?5=<5 4 

10. &>D<>7=>5 G?D46?5=<5 4 

�E57> 24 

 
�4>G=4O D>D<4 >5GG5=<O 

7 
?/? 

&5<O ?45>D4F>D=OE 74=OF<= 
�>?<G5EF6> 

G4E>6 
�GDE 2 

1. &O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=. 0,5 
2. &>D<>7=O5 E6>=EF64. 0,5 
3. &>??<6=4O M>>=><<G=>EFL  0,5 
4. �D>E>4<<>EFL. 0,5 
5. '?D46?O5<>EFL < GEF>=G<6>EFL. 1 
6. �?46=>EFL E>44. 1 
 �E57> 74 2 >GDE 4 

�GDE 3 
1. &D4=E<<EE<O 46F><>5<?O 1 
2. %F5??5=<5 1 
3. �>D>5>4 ?5D5<5=O ?5D544G 1 
4. �<4D><5E4=<G5E>4O >>D>5>4 ?5D544G 1 
5. �4D44==4O < 7?46=4O ?5D544G<. 1 
6. �<DD5D5=F<4? < ?>?G>E< 1 
7. �>465E>< 1 
8. �>?5E4 < H<=O. �>EFO. 1 
9. $G?56>5 G?D46?5=<5 1 

10. &>D<>7=>5 G?D46?5=<5 1 
 �E57> 74 3 >GDE 10 

�E57> 14 

 
 

5.5 %>45D64=<5 D4745?>6 4<EF<??<=O 
7 
?/? 

�4<<5=>64-
=<5 D4745?4 

%>45D64=<5 D4745?4 
�><?5-
F5=F<< 

1. �E=>6O >>=-
EFDG>F<< 
46F><>5<?O 

�6545=<5. �>46<6=>= E>EF46 46F><>5<?L=>7> FD4=E-

?>DF4. 

�444=<5 <7GG5=<O >GDE4, E6O7L 57> E 4DG7<<< 4<EF<??<-
=4<<. $>?L 46F><>5<?L=>7> FD4=E?>DF4 6 FD4=E?>DF=>= 

��-1, 
(��-1, 
��-2, 

��-11) 
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E<EF5<5 EFD4=O. $476<F<5 46F><>5<?L=>7> FD4=E?>DF4. 
�?D545?5=<5 6<4>6 ?>46<6=>7> E>EF464 < 57> >?4EE<-
D<>4F<O. �E=>6=O5 MF4?O D476<F<O 46F><>5<?L=>= 
?D><OH?5==>EF<. %<EF5<4 >5>7=4G5=<O (<=45>E4F<<) 
46F><>5<?L=>7> ?>46<6=>7> E>EF464. 
�5M55 GEFD>=EF6> 46F><>5<?O < 7DG??O 57> <5E4=<7<>6 
< <E D4E?>?>65=<5 =4 46F><>5<?5, 46F>5GE>6. �E>55=-
=>EF< EE5< >><?>=>6>> ?57>>6OE, 7DG7>6OE 46F><>5<-
?5=, 46F>5GE>6. �4D4<5FDO F5E=<G5E>>= E4D4>F5D<EF<-
><.  
$45>G<= ?D>F5EE < >E=>6=O5 ?4D4<5FDO 46<74F5?O.  

&<?O 46F><>5<?L=OE 46<74F5?5= 6=GFD5==57> E7>D4=<O. 
%E5<4 >5M57> GEFD>=EF64 ?>DH=56>7> 46<74F5?O, =47=4-
G5=<5 >E=>6=OE <5E4=<7<>6 < E<EF5<. 
$45>G<= ?D>F5EE G5FOD5EF4>F=>7> 46<74F5?O: >4D5ND4-
F>D=>7> < 4<75?O. �=4<>4F>D=4O 4<47D4<<4. �4D4<5FDO 
F4>F>6 D45>G57> ?D>F5EE4. 
�E=>6=O5 ?4D4<5FDO ?>DH=56OE 46<74F5?5=; G45?L=O= 
D4EE>4 F>??<64. &>>E<G=>EFL >FD45>F46H<E 747>6. 
�=5H=<5 < G4EF<G=O5 E>>D>EF=O5 E4D4>F5D<EF<>< 46<-
74F5?O. [�D<=F<? 45=EF6<O 747>FGD5<==>7> < D>F>D=>-
?>DH=56>7> 46<74F5?O]  
&D4=E<<EE<O 46F><>5<?O. 

&D4=E<<EE<O 46F><>5<?O. �47=4G5=<5 FD4=E<<EE<<. 
%E5<O <5E4=<G5E>>= FD4=E<<EE<< 46GE < FD5E>E=OE 
46F><>5<?5=. �5E4=<7<O FD4=E<<EE<<. �><5<=<D>64=-
=4O FD4=E<<EE<O. 
%E5<4 7<4D><5E4=<G5E>>= FD4=E<<EE<<. �47=4G5=<5. 
%E5<4 < ?D<=F<? 45=EF6<O DD<>F<>==>7> EF5??5=<O < 
?D<6>44 57> G?D46?5=<O. [�>=EFDG>F<O < D45>F4 >4=>-
46GE4<E>>6OE EF5??5=<=]. 
�47=4G5=<5, EE5<4 < ?D<=F<? D45>FO DD<>F<>==OE 
EF5??5=<= < ?D<6>44 57> G?D46?5=<O. �>=EFDG>F<O < 
D45>F4 >4=>7> < 46GE4<E>>6>7> EF5??5=<O. %E5<4, 
?D<=F<? 45=EF6<O < >>=EFDG>F<O GEFD>=EF64 7<4D><GD-
FO.  
�>D>5>4 ?5D544G < D4744F>G=4O >>D>5>4. �47=4G5=<5 
>>D>5>< ?5D544G. �D<=F<? 45=EF6<O >>D>5>< ?5D544G E 
=5?>46<6=O<< < ?>46<6=O<< >EO<< 64?>6. %E5<O 
46GE-, FD5E - 64?L=OE >>D>5>> ?5D544G. %E5<O 4>?>?=<-
F5?L=OE >>D>5>> ?5D544G. 
%E5<4 < ?D<=F<? 45=EF6<O E<=ED>=<74F>D4. 
�47=4G5=<5 < EE5<O 4>?>?=<F5?L=OE >>D>5>> ?5D544G: 
45?<F5?O, D4744F>G=>= >>D>5><, <E >>=EFDG>F<O GEFD>=-
EF64 7<4D><GDFO. 
�>D>5>4 ?5D544G < D4744F>G=4O >>D>5>4. �47=4G5=<5 >>-
D>5>< ?5D544G. �D<=F<? 45=EF6<O >>D>5>< ?5D544G E 
=5?>46<6=O<< < ?>46<6=O<< >EO<< 64?>6. %E5<O 
46GE-, FD5E-, <=>7> 64?L=OE >>D>5>> ?5D544G. %E5<O 
4>?>?=<F5?L=OE >>D>5>> ?5D544G. 
%E5<4 < ?D<=F<? 45=EF6<O E<=ED>=<74F>D4. 
[�D<6>4O G?D46?5=<O, E<47>< ��] 
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�47=4G5=<5, EE5<O < M?5<5=FO >4D44==OE ?5D544G. 
&<?O >4D44==OE H4D=<D>6. %E5<4 >4D44==>7> H4D=<D4 
=5D46=OE G7?>6OE E>>D>EF5= < 57> E6>=EF64. �>=EFDG>-
F<O >4D44==OE ?5D544G; >4D44==OE H4D=<D>6, 64?>6 
?D><56GF>G=OE >?>D. �4?4=E<D>6>4 >4D44==OE ?5D5-
44Gý. 

%E5<4 >4D44==>7> H4D=<D4 G7?>6OE E>>D>EF5=. 
�47=4G5=<5 7?46=>= ?5D544G<. %E5<4 < >>=EFDG>F<O 
>4<=4D=OE < 46>==OE (F5=FD4?L=OE < D47=5E5==OE) 
7?46=OE ?5D544G. 'EF4=>6>4 ?>4H<?=<>>6 7?46=OE ?5-
D544G. �47=4G5=<5 4<DD5D5=F<4?4. �>=EFDG>F<O < 
E6>=EF64 >>=<G5E>>7> E<<<5FD<G=>7> 4<DD5D5=F<4?4.]. 
�>=EFDG>F<O E<<<5FD<G=>7> < 4EE<<5FD<G=>7> <56>E5-
6OE 4<DD5D5=F<4?>6. �4?4=E<D>6>4 < ?D<6>4 G?D46?5-
=<O 5?>><D>6>>=. �D<6>4 >F 4<DD5D5=F<4?4 > 654GM<< 
< G?D46?5=<5< 654GM<< >>?5E4< F<?O ?>?G>E5=. 
�5EGM4O E<EF5<4. �G7>64. �47=4G5=<O, F<?O < >>=-
EFDG>F<< D4<. &O7>6>-EF5?=O5 < E545?L=>-EF5?=O5 
GEFD>=EF64.  
&<?O =5EGM<E >G7>6>6. [�>=EFDG>F<O < >E=>6=O5 G4EF< 
>G7>64 ?57>>6>7> 46F><>5<?O]. 
�G7>64 46F>5GE>6. �5DO ?> ?>6OH5=<N 4>F<6=>= < ?4E-
E<6=>= 557>?4E=>EF< >G7>6>6. 
�G7>6 7DG7>6>7> 46F><>5<?O. [�5M55 GEFD>=EF6> >45<-
=O < 7DG7>6>= ??4FD>D<O]. 
�>465E><. �>EFO. 

�47=4G5=<5 < F<?O <>EF>6. �5M55 GEFD>=EF6> 654GM5-
7>, G?D46?O5<>7> < ?>445D6<64NM57> <>EF>6. 
�47=4G5=<5 ?>465E><. %<?O < <><5=FO, ?5D544645<O5 
?>465E>>=. �E=>6=O5 G4EF< ?>465E>< < <E =47=4G5=<5. 
%E5<4 < >5M55 GEFD>=EF6> 746<E<<>=, =5746<E<<>= < 
54?4=E<D=>= ?>465E>>. �>=EFDG>F<O G?DG7<E GEFD>=EF6: 
?<EF>64O D5EE>D4, E?<D4?L=>= ?DG6<=O, ?>=65D>=4, 
?=56<4F<G5E>>7> G?DG7>7> M?5<5=F4. 
�>?5E=O= 46<6<F5?L. 
�47=4G5=<5 < GEFD>=EF6> >>?5E=>7> 46<65=<O. �>=-
EFDG>F<O >>?5E4 E ?=56<4F<G5E>>= H<=>=. �>=EFDG>F<O 
H<=. �>=EFDG>F<O >4<5D=>= < 55E>4<5D=>= H<= D47-
?<G=OE F<?>6. �>=EFDG>F<O >4D>4E4 ?>>DOH>< E 4<47>-
=4?L=O< < D44<4?L=O< D4E?>?>65=<5< =<F5= >>D44. 
�4F5D<4? >>D44. $<EG=>> ?D>F5>F>D4 H<= D47?<G=>7> 
=47=4G5=<O. �4F5D<4? H<=. &5E=<G5E><5 ?4D4<5FDO 
H<=, D57?4<5=F<DGNM<5 ��%&4<<. 
�>D<4 ?D>5574 H<=. 
�>=EFDG>F<O >>?5E E D47?<G=O<< >5>44<<. �D5??5=<O 
H<= =4 >5>45 >>?5E4. �E>55==>EF< >>=EFDG>F<< 55E>4-
<5D=>= H<=O. �>=EFDG>F<O EFG?<F < >D5??5=<5 >>?5E. 
$G?56>5 G?D46?5=<5. %E5<4 ?>6>D>F4 46GE>E=>7> < 
FD5E>E=>7> 46F><>5<?5= E ?5D54=<<< G?D46?O5<O<< 
>>?5E4<<. $44<GE ?>6>D>F4 46F><>5<?O. 
%E5<4 DG?56>7> G?D46?5=<O. �47=4G5=<5 DG?56>7> <5E4-
=<7<4 < ?D<6>44. �5D544F>G=O5 G<E?4 DG?56>7> G?D46-
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?5=<O, DG?56>7> <5E4=<7<4 < DG?56>7> ?D<6>44. 
$G?56O5 <5E4=<7<O, <E =47=4G5=<5 < >E=>6=O5 F<?O. 
�>=EFDG>F<O D55G=OE, G5D6OG=OE < >><5<=<D>64==OE 
<5E4=<7<>6. 
%E>645=<5 < D4764? G?D46?O5<OE >>?5E. %F45<?<74F<O 
G?D46?O5<OE >>?5E. �47=4G5=<5, ?D<=F<?<4?L=4O EE5<4 
< D45>F4 7<4D46?<G5E>>7> GE<?<F5?O DG?56>7> G?D46?5-
=<O. 
&>D<>7=>5 G?D46?5=<5. �D<=F<? F>D<>65=<O 46F><>-
5<?O. 
�47=4G5=<5 F>D<>7=OE E<EF5<: D45>G5=, 74?4E=>=, EF>O-
=>G=O=, 6E?><>74F5?L=>=. �E=>6=O5 >D<F5D<< MDD5>-
F<6=>EF< F>D<>7=OE E<EF5< (?>=OF<5 > F>D<>7=>< ?GF<, 
74<54?5=<5, G7?5 =4>?>=4 G45D64=<O 46F><>5<?O =4 EF>-
O=>5). %>EF46=O5 G4EF< F>D<>7=OE E<EF5<: F>D<>7=O5 
<5E4=<7<O < F>D<>7=O5 ?D<6>4O, <E =47=4G5=<5 < >E-
=>6=O5 F<?O. %E5<O < E6>=EF64 54D454==OE < 4<E>>6OE 
F>D<>7=OE <5E4=<7<>6 >E=>6=OE F<?>6. %E5<4 < ?D<=-
F<? 45=EF6<O 7<4D46?<G5E>>7> F>D<>7=>7> ?D<6>44. 
%?54OM<5 4??4D4FO ?DO<>7> < >5D4F=>7> 45=EF6<O. 
%E5<4 46GE>>=FGD=>7> F>D<>7=>7> ?D<6>44 46F><>5<?O, 
=47=4G5=<5 >E=>6=OE 4??4D4F>6 D45>G5= F>D<>7=>= E<-
EF5<O. %E5<4 EF>O=>G=>= F>D<>7=>= E<EF5<O 46F><>-
5<?O, =47=4G5=<5 >E=>6=OE 4??4D4F>6. �4=>?D>6>4=4O < 
46GE?D>6>4=4O EE5<O F>D<>7=OE ?D<6>4>6 46F>?>574>6, 
>E=>6=O5 4??4D4FO, ?D<=F<? 45=EF6<O. 

2. &5>D<O M>E-
??G4F4F<>=-
=OE E6>=EF6 
 

�6545=<5. ->E??G4F4F<>==O5 E6>=EF64 46F><>5<?5=. 
&5?< < 7444G< 4<EF<??<=O <&5>D<O -%=, E6O7L E 4DG7<-
<< 4<EF<??<=4<<. $476<F<5 =4G>< >5 -%. $>?L D>EE<=-
E><E GG5=OE 6 D476<F<< =4G>< > 74>>=4E 46<65=<O 46-
F><>5<?5=. ->E??G4F4F<>==O5 E6>=EF64 46F><>5<?O, <E 
>?D545?5=<5, >F5=>G=O5 ?>>474F5?<. �E=>6O <E?>?L7>-
64=<O E<EF5<=>7> ?>4E>44 4?O <7GG5=<O E<EF5<O <46F>-
<>5<?L 3 6>4<F5?L 3 4>D>74=. 
�E?>?L7>64=<5 D4EG5F=OE 6OG<E?<F5?L=OE <5F>4>6 ?D< 
F5>D5F<G5E>>< 4=4?<75 -%. �?<O=<5 GE?>6<= M>E??G4F4-
F<< =4 DG=>F<>=4?L=O5 E6>=EF64. 
'E?>6<O M>E??G4F4F<<. &D4=E?>DF=O5 GE?>6<O.   

�>D>6=O5 GE?>6<O. �D<D>4=>->?<<4F<G5E><5 GE?>6<O. 
�?<O=<5 GE?>6<= M>E??G4F4F<< =4 M>E??G4F4F<>==O5 
E6>=EF64. 
&O7>6>-E>>D>EF=O5 E6>=EF64 46F><>5<?5=.  

�?D545?5=<O. �F5=>G=O5 ?>>474F5?< FO7>6>-E>>D>EF=OE 
E6>=EF6. �<=5<4F<>4 < 4<=4<<>4 46F><>5<?L=>7> >>?5-
E4. �74<<>45=EF6<5 >>?5E4 E 4>D>7>=. %>?D>F<6?5=<5 
>4G5=<N >>?5E4. �>MDD<F<5=F EF5??5=<O >>?5E4 E 4>D>-
7>=. %<?O, 45=EF6<O =4 46F><>5<?L. �6<6GM<5 E<?O. 
%<?O E>?D>F<6?5=<O 46<65=<N. �>MDD<F<5=F 4>D>6-
=>7> E>?D>F<6?5=<O. 
�MD>4<=4<<>4 46F><>5<?O. �>MDD<F<5=F >5F5>45<>EF<, 
<5F>4O G?GGH5=<O 4MD>4<=4<<>< 46F><>5<?O. �>MDD<-
F<5=F GG5F4 6D4M4NM<EEO <4EE. %<?O, =>D<4?L=O5 > 

��-1, 
(��-1, 
��-2, 

��-11) 
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=4?D46?5=<N 46<65=<O. &O74 =4 >DN>5. 
'D46=5=<5 46<65=<O 46F><>5<?O < 46F>?>5744. %<?>6>= 
< <>M=>EF=>= 54?4=EO 46F><>5<?O. �<=4<<G5E><= D4>-
F>D. �<=4<<G5E>4O E4D4>F5D<EF<>4. �7D4=<G5=<5 ?> 
EF5??5=<N E 4>D>7>=. �5F>4O D5H5=<O GD46=5=<= E<-
?>6>7> < <>M=>EF=>7> 54?4=E>6 46F><>5<?O. 
&>D<>7=O5 E6>=EF64.    

�?D545?5=<O. �F5=>G=O5 ?>>474F5?< < =>D<O. �<4-
7D4<<4 F>D<>65=<O. 'D46=5=<5 46<65=<O 46F><>5<?O 
?D< F>D<>65=<<. &>D<>65=<5 E ?>?=O< <E?>?L7>64=<-
5< EF5??5=<O E 4>D>7>=. �?F<<4?L=>5 D4E?D545?5=<5 
F>D<>7=OE E<?. $4EG5F=O5 D>D<G?O 4?O >?D545?5=<O 
74<54?5=<O, F>D<>7=>7> < >EF4=>6>G=OE ?GF5=. 
�E>55==>EF< ?D>F5EE4 F>D<>65=<O 46F>?>5744. �?<O=<5 
>>=EFDG>F<6=OE < M>E??G4F4F<>==OE D4>F>D>6 =4 F>D-
<>7=O5 E6>=EF64 46F><>5<?O. (�>64??4=<D>64=<5). 
 

&>??<6=4O M>>=><<G=>EFL.   
�?D545?5=<O. �F5=>G=O5 ?>>474F5?<. 'D46=5=<5 D4EE>-
44 F>??<64. &>??<6=>-M>>=><<G5E>4O E4D4>F5D<EF<>4. 
$4EG5F=>5 >?D545?5=<5 ?>>474F5?5= F>??<6=>= M>>=>-
<<G=>EF<. �?<O=<5 >>=EFDG>F<6=OE < M>E??G4F4F<>=-
=OE D4>F>D>6 =4 F>??<6=GN M>>=><<G=>EFL 46F><>5<-
?O. 
&O7>6>-E>>D>EF=O5 E6>=EF64 < F>??<6=4O M>>=><<G-
=>EFL 46F><>5<?O E 7<4D>4<=4<<G5E>>= ?5D544G5= 
(���). 
�EE>4=O5 (557D47<5D=O5) E4D4>F5D<EF<>< 7<4D>?5D5-
44G. %>6<5EF=4O D45>F4 46<74F5?O 6=GFD5==57>  E7>D4-
=<O E  7<4D>?5D544G5=. $4EG5F FO7>6>= E<?O ?D< GEF4=>-
6<6H5<EO 46<65=<< 46F><>5<?O E ���. �<=4<<G5E>4O 
E4D4>F5D<EF<>4 < ?4D4<5FDO ?D<75<<EF>EF< 46F><>5<?O 
E 7<4D>?5D544G5=. (�5F>4<>4 D4EG5F4 D4EE>44 F>??<64 
46F><>5<?O E ���). 
�D>E>4<<>EFL.  

�?D545?5=<O. �E>55==>EF< 674<<>45=EF6<O 46F><>-
5<?L=>7> >>?5E4 E 4>D>74<< 6 GEG4H5==>< E>EF>O=<<, 
45D>D<<DG5<O< 7DG=F>< < E ?D5?OFEF6<O<<. �5>5M5-
=<5 ?>>474F5?5= ?D>E>4<<>EF<. �?<O=<5 >>=EFDG>F<6-
=OE < M>E??G4F4F<>==OE D4>F>D>6 =4 ?D>E>4<<>EFL. 
$4E?D545?5=<5 ?>F>>4 <>M=>EF< <564G 654GM<<< >EO-
<< ?>?=> ?D<6>4=>7> 46F><>5<?O (&<D>G?OF<O <>M=>-
EF<). 
�D>5>F<D>6>G=O= FO7>6O= D4EG5F.    

�444G< D4EG5F4. �444645<O5 < 6O5<D45<O5 ?4D4<5FDO.  
�>45>D 6=5H=5= E4D4>F5D<EF<>< 46<74F5?O. �O5>D ?5-
D544F>G=OE G<E5? <5E4=<7<>6 <5E4=<G5E>>= FD4=E<<E-
E<<. (�E>55==>EF< ?D>5>F<D>6>G=>7> FO7>6>7> D4EG5F4 
�&% E 7<4D><5E4=<G5E>>= ?5D544G5=). 
'?D46?O5<>EFL.  

�?D545?5=<O. �<=5<4F<>4 >D<6>?<=5==>7> 46<65=<O 
46F><>5<?O. '6>4 46F><>5<?L=>7> >>?5E4. %<?O, 45=-
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EF6GNM<5 =4 46F><>5<?L ?D< ?>6>D>F5. �>6>D4G<645-
<>EFL 46F><>5<?O. �>=EFDG>F<6=O5 < M>E??G4F4F<>=-
=O5 >D<F5D<< ?>6>D4G<645<>EF<. �>?554=<O < 46F>>>-
?554=<O G?D46?O5<OE >>?5E >F=>E<F5?L=> H>6>D=5=. 
%F45<?<74F<O G?D46?O5<OE >>?5E. '?DG7<= EF45<?<7<-
DGNM<= <><5=F H<=O. %F4F<EF<G5E><= < 4<=4<<G5E><= 
EF45<?<7<DGNM<5 <><5=FO. 
'EF>=G<6>EFL.   

�?D545?5=<O. �F5=>G=O5 ?>>474F5?<. �>?5D5G=4O 
GEF>=G<6>EFL. �D<F<G5E>4O E>>D>EFL 46<65=<O ?> 5>>>-
6><G E>>?L65=<N < >?D>><4O64=<N. �>MDD<F<5=F ?>-
?5D5G=>= GEF>=G<6>EF<. 
�GDE>64O GEF>=G<6>EFL. �D<F<G5E>4O E>>D>EFL ?> >GD-
E>6>= GEF>=G<6>EF<. �MD>4<=4<<G5E>4O GEF>=G<6>EFL. 
(�?<O=<5 =4 4MD>4<=4<<G5E>GN GEF>=G<6>EFL ?>?>65-
=<O <5F4F5=FD4). 
�?46=>EFL E>44.    

�?D545?5=<O. �F5=>G=O5 ?>>474F5?< < =>D<O. �6F><>-
5<?L >4> >>?554F5?L=4O E<EF5<4. �D<6545==4O 65EF-
>>EFL G?DG7<E M?5<5=F>6 ?>465E><. %6>5>4=O5 >>?554-
=<O ?>4D5EE>D=>= <4EEO 557 GG5F4 74FGE4=<O < 6?<O=<O 
=5?>4D5EE>D=OE <4EE. �?D545?5=<5 E>5EF65==OE G4EF>F 
>>?554=<=. �4DF<4?L=O5 G<EF>FO. %F4F<EF<G5E><= ?D>-
7<5 ?>465E><. %6>5>4=O5 >>?554=<O E GG5F>< 74FGE4=<O. 
�O=G645==O5 >>?554=<O. �<??<FG4=>-G4EF>F=4O E4D4>-
F5D<EF<>4 46F><>5<?O. (�<7>>G4EF>F=O= < 6OE>>>G4-
EF>F=O= D57>=4=EO). 
->E?5D<<5=F4?L=O5 <5F>4O >?D545?5=<O M>E??G4-

F4F<>==OE E6>=EF6.   

�<4O <E?OF4=<= 46F>FD4=E?>DF=OE ED54EF6. �?4EE<D<-
>4F<O <E?OF4=<=. &5?< D47?<G=OE 6<4>6 <E?OF4=<=. 
�>D>6=O5 < ?45>D4F>D=O5 <E?OF4=<O. �45>D4F>D=O5 
<5F>4O >F5=>< M>E??G4F4F<>==OE E6>=EF6.  
�E?OF4=<O E F5?LN >?D545?5=<O ?>>474F5?5= D47?<G=OE 
M>E??G4F4F<>==OE E6>=EF6. 
�4=56D5==>EFL. 
�?D545?5=<O. �F5=>G=O5 ?>>474F5?<. �<=5<4F<>4 >D<-
6>?<=5==>7> 46<65=<O 46F>?>5744. �E>55==>EF< M>E?5-
D<<5=F4?L=>7> < D4EG5F=>-7D4D<G5E>>7> >?D545?5=<O 
?>>474F5?5= <4=56D5==>EF<. 

3. $45>G<5 
?D>F5EEO < 
M?5<5=FO 
D4EGUF4 47-
D574F>6 46-
F><>5<?O. 

�6F><>5<?L=4O ?D><OL?5==>EFL < 46F><>5<?L=O= 

FD4=E?>DF. %>6D5<5==>5 E>EF>O=<5 46F><>5<?L=>= 
?D><OH?5==>EF< $>EE<<, E4D4>F5D<EF<>4 F<?464 6O-
?GE>45<OE 46F><>5<?5=, >E>55==>EF< EFDG>FGDO F<?464 
< ?4D>4, >5N5< ?D><76>4EF64. [�D4F><= >57>D 46F><>-
5<?L=>= ?D><OH?5==>EF< D476<FOE >4?<F4?<EF<G5E><E 
EFD4=: >5N5< ?D><76>4EF64, F5=45=F<O D476<F<O. �?4E-
E<D<>4F<O < >E=>6=O5 6<4O E?5F<4?<7<D>64==>7> ?>-
46<6=>7> E>EF464. �D5<<GM5EF64 < =54>EF4F>< ?D<<5-
=5=<O E?5F<4?<7<D>64==OE 46F><>5<?5=]. 
&D55>64=<O > >>=EFDG>F<O< 46F><>5<?5=. �5M<5 FD5-
5>64=<O > >>=EFDG>F<O< 46F><>5<?5=. �7D4=<G5=<O 74-

��-1, 
(��-1, 
��-2, 

��-11) 
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54D<F=OE D47<5D>6, <4>E<<4?L=>= <4EEO < >E56>= 
=47DG7><. $57?4<5=F<DG5<O5 ED>>< E?G65O < D5EGDEO. 
�F5=>4 EE5< >5M5= >><?>=>6>< FD4=E<<EE<< ?57>>6OE 
< 7DG7>6OE 46F><>5<?5= < 46F>5GE>6. &5=45=F<O D476<-
F<O >><?>=>6>G=OE EE5<. 
&D4=E<<EE<O. 

&D55>64=<O > FD4=E<<EE<< < ?GF< <E D54?<74F<<. %D46-
=<F5?L=4O >F5=>4 EFG?5=G4F>= < 55EEFG?5=G4F>= FD4=E-
<<EE<<. 
%F5??5=<5.  

$45>G<= ?D>F5EE DD<>F<>==>7> =546F><4F<G5E>>7> 
EF5??5=<O. �5F>4<>4 D4EG5F4 5G>E>64=<O, 747DG65==>-
EF< DD<>F<>==OE 4<E>>6, F5<?5D4FGD=>7> D56<<4 45F4-
?5=. �<=4<<G5E><5 =47DG7>< 6 EF5??5=<< < E?>E>5O <E 
E=<65=<O. '?D46?5=<5 <><5=F4 FD5=<O EF5??5=<O < 57> 
4=4?<7, >?D545?5=<5 =4 >E=>65 >>=EFDG>F<6=OE ?4D4-
<5FD>6 < D47<5D>6 EF5??5=<=. 
�=4?<7 EE5< < >>=EFDG>F<= ?D<6>4>6 G?D46?5=<O EF5?-
?5=<5<. �5D544F>G=>5 G<E?> < ��� ?D<6>44. $45>G<= 
?D>F5EE ?=56<4F<G5E>>7> GE<?<F5?O ?D<6>44 EF5??5=<O. 
�4F5D<4?O 45F4?5= EF5??5=<= < D5EGDE <E D45>FO.  
�>D>5>4 ?5D544G, D4744F>G=4O >>D>5>4.  

&D55>64=<O > >>D>5>5 ?5D544G. �=4?<7 EE5< EFG?5=G4-
FOE >>D>5>> ?5D544G, 45?<F5?5= < D54G>F>D>6. �=4?<7 
>>=EFDG>F<= E<=ED>=<74F>D>6. $45>G<= ?D>F5EE 7<4D>-
<5E4=<G5E>>= ?5D544G< < 55EEFG?5=G4F>= ?5D544G<. 
�?D545?5=<5 E<?, 45=EF6GNM<E =4 7G5G4FO5 >>?5E4, 64-
?O < ?>4H<?=<>< EFG?5=G4FOE >>D>5>> ?5D544G. $5EGDE 
D45>FO >>D>5>> ?5D544G. �4F5D<4?O >E=>6=OE >>D>5>> 
?5D544G. 
�4D44==4O ?5D544G4.  

&D55>64=<O, ?D54NO6?O5<O5 > >4D44==O< ?5D544G4<. 
�<=5<4F<>4 65EF>>7> >4D44==>7> H4D=<D4 =5D46=OE 
G7?>6OE E>>D>EF5=. �<=5<4F<>4 >4D44==>7> H4D=<D4 
D46=OE G7?>6OE E>>D>EF5=. �>?5D5G=O5 >>?554=<O >4D-
44==OE 64?>6, <E 6?<O=<5 =4 =4456=>EFL < 4>?7>65G-
=>EFL FD4=E<<EE<<. �D<F<G5E>4O G4EF>F4 6D4M5=<O >4D-
44==>7> 64?4. �5F>4<>4 >?D545?5=<O =47DG7>>, 45=-
EF6GNM<E =4 45F4?< >4D44==>= ?5D544G< < >E=>6O <E 
D4EG5F4. �4F5D<4?O 45F4?5= < D5EGDE D45>FO >4D44==OE 
?5D544G.  
�?46=4O ?5D544G4. 

&D55>64=<O, ?D54NO6?O5<O5 > 7?46=O< ?5D544G4<. 
�?D545?5=<5 E<?, 45=EF6GNM<E =4 7G5G4FO5 >>?5E4, 64-
?O < ?>4H<?=<>< 7?46=OE ?5D544G. �E>55==>EF< <5F>-
4<>< D4EG5F4 ?>4H<?=<>>6 7?46=OE ?5D544G. �D54=4FO7 
< >E>55==>EF< >>=EFDG>F<< ?>4H<?=<>>6. �4F5D<4?O 
>E=>6=OE 45F4?5= < D5EGDE D45>FO 7?46=OE ?5D544G. 
�<DD5D5=F<4?. 

&D55>64=<O, ?D54NO6?O5<O5 > 4<DD5D5=F<4?4<. �<=5-
<4F<>4 4E<<<5FD<G=>7> < E<<<5FD<G=>7> 4<DD5D5=F<-
4?4. 'D46=5=<5 D4E?D545?5=<O <><5=F>6 4<DD5D5=F<4-



20 

?4. �?<O=<5 6=GFD5==57> FD5=<O 6 4<DD5D5=F<4?5 =4 57> 
>>MDD<F<5=F 5?>><D>6>< < ��� FD4=E<<EE<<. �?<O=<5 
<56>>?5E=OE < <56>E56OE 4<DD5D5=F<4?>6 =4 >E=>6-
=O5 M>E??G4F4F<>==O5 E6>=EF64 46F><>5<?5=. �5F>4<>4 
>?D545?5=<O =47DG7>> =4 45F4?< 4<DD5D5=F<4?4 < >E=>-
6O <E D4EG5F4. �4F5D<4?O 45F4?5= 4<DD5D5=F<4?>6. 
�D<6>4 654GM<E < G?D46?O5<OE >>?5E.  

&D55>64=<O > ?D<6>4G 654GM<E < G?D46?O5<OE >>?5E. 
%E5<O < 4=4?<7 >>=EFDG>F<= ?D<6>44 ?D< 746<E<<>= < 
=5746<E<<>= ?>465E>4E >>?5E. �5F>4<>4 >?D545?5=<O 
=47DG7>>, 45=EF6GNM<E =4 45F4?< < >E=>6O <E D4EG5F4. 
�4F5D<4?O 45F4?5= ?D<6>44 >>?5E. 
$G?56>5 G?D46?5=<5.  

&D55>64=<O > DG?56><G G?D46?5=<N. �=4?<7 EE5< >><-
?>=>6>< DG?56>7> G?D46?5=<O E ?>6>D>F=O<< >>?5E4<<. 
�4D4<5FDO >F5=>< DG?56>7> G?D46?5=<O: ?5D544F>G=>5 
G<E?>, ���, >5D4F<<>EFL, 65EF>>EFL. �<=5<4F<>4 ?>6>-
D>F4 G?D46?O5<OE >>?5E �&%. %E5<O DG?56>= FD4?5F<<. 
�E=>6O D4EG5F4 75><5FD<G5E><E ?4D4<5FD>6 FD4?5F<<. 
�?D545?5=<5 GE<?<O =4 DG?56>< >>?5E5, =5>5E>4<<>7> 
4?O ?>6>D>F4 >>?5E. 
&D55>64=<O, ?D54NO6?O5<O5 > DG?56O< <5E4=<7<4<. 
�=4?<7 >>=EFDG>F<= DG?56OE <5E4=<7<>6. &D55>64=<O 
?> FD46<>557>?4E=>EF< DG?56>7> <5E4=<7<4. �?D545?5-
=<5 =47DG7>> =4 45F4?< DG?56OE <5E4=<7<>6 < >E=>6O 
<E D4EG5F4. 
'E<?<F5?< DG?56>7> G?D46?5=<O: FD55>64=<O > GE<?<F5-
?O<, >?4EE<D<>4F<O, ?D<<5=O5<>EFL. �4D4<5FDO >F5=>< 
GE<?<F5?5=. %E5<O >><?>=>6>< < 6>?NG5=<O GE<?<F5-
?5= 6 DG?56>5 G?D46?5=<5; <E 4=4?<7 < >F5=>4. $45>G<= 
?D>F5EE < E4D4>F5D<EF<>4 7<4D46?<G5E>>7> GE<?<F5?O E 
D4E?D545?<F5?L=O< GEFD>=EF6>< D47?<G=>= >>=EFDG>-
F<<. 
�?D545?5=<5 =47DG7>>, 45=EF6GNM<E =4 45F4?< DG?56>-
7> G?D46?5=<O. �E=>6O D4EG5F4 45F4?5= DG?56>7> ?D<6>-
44. �4F5D<4?O >E=>6=OE 45F4?5= DG?56OE <5E4=<7<>6, 
DG?56>7> ?D<6>44, GE<?<F5?5= DG?56>7> G?D46?5=<O. 
&>D<>7=>5 G?D46?5=<5. 

�5M<5 FD55>64=<O > F>D<>7=><G G?D46?5=<N < >>=-
EFDG>F<< F>D<>7=OE E<EF5<: D45>G5=, 74?4E=>=, EF>O-
=>G=>= < 6E?><>74F5?L=>=. &D55>64=<O > F>D<>7=O< 
E<EF5<4< 46F>?>574>6. 
&D55>64=<O > F>D<>7=O< <5E4=<7<4<. �5M<= 6<4 
G?D46?5=<O F>D<>7=>7> <><5=F4 4<E>>6>7> < 54D454=-
=OE F>D<>7=OE <5E4=<7<>6 D47?<G=OE >>=EFDG>F<6=OE 
EE5<. %D46=<F5?L=4O >F5=>4 F>D<>7=OE <5E4=<7<>6 ?> 
MDD5>F<6=>EF<, EF45<?L=>EF< GD46=>65H5==>EF<. &5<-
?5D4FGD=O= D56<< F>D<>7=OE <5E4=<7<>6: 57> 6?<O=<O 
=4 F>D<>7=O5 E6>=EF64 46F><>5<?O. �E=>6O D4EG5F4 45-
F4?5= F>D<>7=OE <5E4=<7<>6 < ?D<<5=O5<O5 4?O =<E 
45F4?<. 
&D55>64=<O > F>D<>7=O< ?D<6>44<. �F5=>4 EE5< < 4=4-
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?<7 E6>=EF6 46GE>>=FGD=OE 7<4D46?<G5E><E F>D<>7=OE 
?D<6>4>6. %E5<O 6>?NG5=<O 64>GG<=>7> < ?=56<4F<G5-
E>>7> GE<?<F5?5=. $45>G<= ?D>F5EE 64>GG<=OE GE<?<F5-
?5= E 4<4DD47<5==O< < G?DG7> D54>F<6=O< E?54OM<< 
GEFD>=EF6><. 
%E5<4 < D45>G<= ?D>F5EE <=>7>>>=FGD=>7> ?=56<4F<G5-
E>>7> ?D<6>44. %D46=<F5?L=4O >F5=>4 >4=>?D>6>4=>7> < 
46GE?D>6>4=>7> ?=56<4F<G5E><E ?D<6>4>6 46F>?>574>6. 
�=4?<7 >>=EFDG>F<= < D45>G<= ?D>F5EE E?54OM<E 4??4-
D4F>6 ?=56<4F<G5E>>7> ?D<6>44 46F>?>574>6: F>D<>7=>-
7> >D4=4 FO74G4, >?4?4=4 >7D4=<G5=<O 446?5=<O, 6>74G-
E>D4E?D545?<F5?O ?D<F5?4. %F4F<EF<G5E><5 < 4<=4<<-
G5E><5 E4D4>F5D<EF<>< E?54OM<E < D45>G<E 4??4D4F>6 
?D<6>44. 
$4E?D545?5=<5 < D57G?<D>64=<5 F>D<>7=OE E<?. �?4E-
E<D<>4F<O < D45>G<= ?D>F5EE D57G?OF>D>6 F>D<>7=OE 
E<?. �=F<5?>><D>6>G=O5 E<EF5<O (��S): ?D<=F<?O D5-
7G?<D>64=<O F>D<>7=OE E<?, >E=>6=O5 M?5<5=FO E<EF5-
<O < ?D<=F<?<4?L=O5 EE5<O. 
�>465E><.  

&D55>64=<O, ?D54NO6?O5<O5 > ?>465E>5. �?<O=<5 >>=-
EFDG>F<6=>= EE5<O ?>465E>< =4 EF45<?<74F<N < 46F>-
>>?554=<O G?D46?O5<OE >>?5E, GEF>=G<6>EFL 46<65=<O, 
?D>E>4<<>EFL. 
'?DG74O E4D4>F5D<EF<>4 ?>465E>< < 55 ?4D4<5FDO. 
'?DG7<5 E4D4>F5D<EF<>< <5F4??<G5E><E, =5<5F4??<G5-
E><E < >><5<=<D>64==OE G?DG7<E M?5<5=F>6. 
&D55>64=<O > 4<>DF<74F>D4<. $45>G<= ?D>F5EE < D45>-
G4O 4<47D4<<4 F5?5E>>?<G5E>>7> 4<>DF<74F>D4. 
�=4?<7 >>=EFDG>F<= < G?DG74O E4D4>F5D<EF<>4 EF45<?<-
74F>D4 ?>?5D5G=>7> >D5=4. 
�?D545?5=<5 =47DG7>>, 45=EF6GNM<E =4 =4?D46?ONM<5 
< G?DG7<5 M?5<5=FO ?>465E>>. �E=>6O <E D4EG5F4. �4-
F5D<4?O, ?D<<5=O5<O5 4?O >E=>6=OE 45F4?5= ?>465E>>. 
�>?5E4 < L<=O.  

&D55>64=<O > >>?5E4< E ?=56<4F<G5E><<< H<=4<<. 
�=4?<7 >>=EFDG>F<= EFG?<F >>?5E. $57?4<5=F4F<O E?>-
E>5>6 >D5??5=<O < G7?>6 GEF4=>6>< G?D46?O5<OE >>?5E. 
�4F5D<4?O 4?O <77>F>6?5=<O >5>4L56, 4<E>>6 < EFG?<F 
>>?5E. 
�>EFO.  

&D55>64=<O, ?D54NO6?O5<O5 > 654GM<<, G?D46?O5<O<, 
>><5<=<D>64==O< < ?>445D6<64NM<< <>EF4<. �=4?<7 
>>=EFDG>F<= <>EF>6; >?D545?5=<5 E<? < <><5=F>6, 45=-
EF6GNM<E =4 <>EFO, ?>6>D>F=O5 F4?DO, H>6>D=<; >E-
=>6O D4EG5F4 MF<E G7?>6 < E>EF46?ONM<E <E 45F4?5=. 
�4F5D<4?O, ?D<<5=O5<O5 4?O <>EF>6, ?>6>D>F=OE 
F4?D, H>6>D=56OE G7?>6. 
�5EGM<5 E<EF5<O 46F><>5<?5=. 
&D55>64=<O > D4<4<. �>=EFDG>F<6=O5 EE5<O < >?4EE<-
D<>4F<O D4<. 
�4F5D<4?O, ?D<<5=O5<O5 4?O D4< < =5EGM<E E<EF5< 
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>G7>6>6. 
&D55>64=<O > >G7>64< ?57>>6OE 46F><>5<?5=, 46F>5GE>6 
< 7DG7>6OE 46F><>5<?5=. �E>55==>EF< >>=EFDG>F<= >G-
7>6>6 < >45<= 46F><>5<?5=. 
�4F5D<4?O 4?O <77>F>6?5=<O >G7>6>6 < >45<=. 

* �>?D>EO, >F<5G5==O5 76574>G>>=, 6O=>EOFEO =4 E4<>EF>OF5?L=>5 <7GG5=<5. 
 

6. 'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 E4<>EF>OF5?L=>= D45>FO 
&5<4F<G5E><= ??4= E4<>EF>OF5?L=>= D45>FO 

7 

?/? 

&5<4F<>4 E4<>EF>OF5?L=>= D45>FO �>?<G5-

EF6> G4E>6 

$5>><5=4G5<O5 <EF>G=<>< <=D>D<4F<< 

(7 <EF>G=<>4) 

>E=>6=4O 

(<7 ?. 8 

$��) 

4>?>?=<-

F5?L=4O (<7 

?. 8 $��) 

(�=F5D=5F-

D5EGDEO) (<7 

?. 9 $��) 

1. '=<D<>4F<O < EF4=44DF<74F<O 6 46F>-
EFD>5=<< 20/27/29 1,6 8,9 1-5 

2. �47=4G5=<5 < EE5<O 4>?>?=<F5?L=OE 
>>D>5>> ?5D544G: 45?<F5?O, D4744F>G=>= 
>>D>5><, <E >>=EFDG>F<O 20/27/29 1 8 1-5 

3. 'EF4=>6>4 4<DD5D5=F<4?4 6 FD4=E<<E-
E<<. �>=EFDG>F<O < E6>=EF64 >G?4G>>6>7> 
4<DD5D5=F<4?4 20/27/29 1 8 1-5 

4. $57G?<D>6>4 DG?56OE <5E4=<7<>6. $G?5-
6>= ?D<6>4 ?D< 746<E<<>= < =5746<E<<>= 
?>465E>4E G?D46?O5<OE >>?5E 20/27/29 1 8 1-5 

5. �6F><>5<?<-E4<>E64?O. �6F><>5<?< 4?O 
E5?LE>>7> E>7O=EF64, 46F>?>5744-
F<EF5D=O. �6F>?>5744 4?O 4?<==><5D=OE 
< FO65?>65E=OE 7DG7>6. �E>55==>EF< 
>>=EFDG>F<< 22/28/30 1 8 1-5 

6. �=4?<7 >>=EFDG>F<= D4<. �>=EFDG>F<6-
=O5 <5D>?D<OF<O ?> ?>6OH5=<N ?D>G=>-
EF<, >DGF<?L=>= 65EF>>EF<, E=<65=<N 
<4EEO. $4EG5F=O5 D56<<O < >E=>6O D4E-
G5F>6 D4<. 22/28/30 1 8 1-5 

7. &D55>64=<O ��%&>6 < �%&>6 =4 >E=>6-
=O5 D47<5DO >45<= < >G7>6>6. [�5M<5 
E6545=<O < FD55>64=<O =4 D47<5M5=<5 < 
?>E44>G 6>4<F5?O, D47<5M5=<5 >D74=>6 
G?D46?5=<O < ?D<5>D>6, >57>D=>EFL E <5-
EF4 6>4<F5?O, >5>DG4>64=<5 >G7>6>6 < 
>45<=, FD55>64=<5 > ED545 >5<F4=<O 6 
>G7>65 < >45<=O 22/28/30 1 8 1-5 

8. �>47>F>6>4 > ?45>D4F>D=>-?D4>F<G5E><< 
74=OF<O< 25/30/24 1 8 1-5 

9. �GDE>6>= ?D>5>F 24/22/24 1 8 1-5 
10. �>47>F>6>4 > F5>GM5<G >>=FD>?N 7=4=<= 25/30/60 1 8 1-5 
11. �D><56GF>G=4O 4FF5EF4F<O 36/36/36 1 8 1-5 

 �E57> 220/276/350    

220/276/350- 6 G<E?<F5?5 >>?<G5EF6> G4E>6 E4<>EF>OF5?L=>= D45>FO ?> 
>G=>= D>D<5, 4 6 7=4<5=4F5?5 - ?> >G=>-74>G=>= < 74>G=>= D>D<4< >5GG5=<O. 
 

'G55=>-<5F>4<G5E><5 <4F5D<4?O 4?O E4<>EF>OF5?L=>= D45>FO: 

1. �.�. %<<D=>6. &5>D<O 46<65=<O >>?5E=OE <4H<=. �.: �4H<=>EFD>5-
=<5, 1990. 352 E., EFD. 3 27-30 

2. �.%. $4?L>56<G. &5>D<O 46F><>5<?O. �. �4H7<7, 1963. 237 E 
3. �.�. %<<D=>6. &5>D<O 46<65=<O >>?5E=OE <4H<=. �.: �4H<=>EFD>5-
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=<5, 1990. 352 E. 
4. �.�. %<<D=>6. &5>D<O 46<65=<O >>?5E=OE <4H<=. �.: �4H<=>EFD>5-

=<5, 1990. 352 E. 
5. �.%. $4?L>56<G. &5>D<O 46F><>5<?O. �. �4H7<7, 1963. 237 E. 
6. �.�. %<<D=>6. &5>D<O 46<65=<O >>?5E=OE <4H<=. �.: �4H<=>EFD>5-

=<5, 1990. 352 E. 
7. �. �E5?GG7>6, �.�. $DG<><=. �6F><>5<?<. �=4?<7 >>=EFDG>F<<, M?5-

<5=FO D4EG5F4. �.: �4H<=>EFD>5=<5, 1989. 304 E. 
 

�5F>4<G5E><5 D5>><5=44F<< EFG45=FG > E4<>EF>OF5?L=>= D45>F5 

%4<>EF>OF5?L=4O D45>F4 EFG45=F>6, ?D54GE<>FD5==4O GG55=O< ??4=>< 
6 >5N5<5 =5 <5=55 50-70% >5M57> >>?<G5EF64 G4E>6, E>>F65FEF6G5F 5>?55 7?G-
5>>><G GE6>5=<N <7GG45<>7> >GDE4, D>D<<DG5F =46O>< <EE?54>64F5?LE>>= D4-
5>FO < >D<5=F<DG5F EFG45=F>6 =4 G<5=<5 ?D<<5=OFL F5>D5F<G5E><5 7=4=<O =4 
?D4>F<>5. 

%4<>EF>OF5?L=4O D45>F4 =>E<F E<EF5<4F<G5E><= E4D4>F5D. 
$57G?LF4FO E4<>EF>OF5?L=>= D45>FO >>=FD>?<DGNFEO ?D5?>4464F5?5< < 

GG<FO64NFEO ?D< 4FF5EF4F<< EFG45=F4 (M>74<5=). �D< MF>< ?D>6>4OFEO: F5EF<-
D>64=<5, M>E?D5EE->?D>E =4 E5<<=4DE><E < ?D4>F<G5E><E 74=OF<OE, 74E?GH<64-
=<5 4>>?44>6, D5D5D4F>6, ?D>65D>4 ?<EL<5==OE D45>F < F.4. 

�444=<O 4?O E4<>EF>OF5?L=>= D45>FO E>EF46?ONFEO ?> D4745?4< < F5<4<, 
?> >>F>DO< =5 ?D54GE<>FD5=O 4G4<F>D=O5 74=OF<O, ?<5> FD55G5FEO 4>?>?=<-
F5?L=> ?D>D45>F4FL < ?D>4=4?<7<D>64FL D4EE<4FD<645<O= ?D5?>4464F5?5< <4-
F5D<4? 6 >5N5<5 74??4=<D>64==OE G4E>6. 

�?O ?>47>F>6>< > 74=OF<O< < 6O?>?=5=<O E4<>EF>OF5?L=>= D45>FO, EFG-
45=F4< D5>><5=4GNFEO GG55=>-<5F>4<G5E><5 <744=<O, 4 F4>65 <5F>4<G5E><5 
<4F5D<4?O, 6O?GM5==O5 >4D54D>= E6><<< E<?4<< < ?D54>EF46?O5<O5 EFG45=-
F4< 6> 6D5<O 74=OF<= (?D<?>65=<O): 

÷ =47?O4=O5 ?>E>5<O (??4>4FO - =4 >4D54D5) 
÷ 7?>EE4D<= - E?>64DL F5D<<=>6 ?> F5<4F<>5 4<EF<??<=O  
÷ F57<EO ?5>F<=. 
%4<>EF>OF5?L=4O D45>F4 E >=<7>=. � =4H5 6D5<O >=<74 EGM5EF6G5F 6 

46GE D>D<4E: FD44<F<>==>= < M?5>FD>==>=. � <=F5D=5F5 EGM5EF6GNF F5?O5 5<5-
?<>F5><, D4E?>?474NM<5 45EOF>4<< FOEOG M?5>FD>==OE F5>EF>6. %57>4=O 6 >5-
M5EF65 ?D5>5?4445F <=5=<5, GF> ?5G4F=4O >=<74 < 55 >><?LNF5D=O= F5>EF 4>-
?>?=ONF 4DG7 4DG74. �E?>?L7GO M?5>FD>==O= 64D<4=F >=<7< 7=4G<F5?L=> 5OEFD55 
?>47>F>6<FL =4 57> 5475 D5D5D4F, >>=FD>?L=GN D45>FG, ?>4>7=4FL F5>EF E6>5= D4-
5>FO ?>4 FD55G5<O= GG55=O< 7444=<5< >5N5<. �5G4F=O5 >=<7< 7>D474> ?57G5 < 
G4>5=55 G<F4FL.  

$45>F4 E >=<7>=, EFG45=FO EF4?><64NFEO E DO4>< ?D>5?5<. �4=4 <7 =<E 3 
>4>4O >=<74 ?GGH5. &5?5E>>5D47=> 6 ?5D6GN >G5D54L >5D4F<FLEO > ?<F5D4FGD5, 
D5>><5=4>64==>= ?D5?>4464F5?5<. &5?5E>>5D47=> ?D>G<F4FL 4==>F4F<N > >=<75 
=4 55 EFD4=<F4E, 6 >>F>D>= G>474=>, >><G < 4?O >4><E F5?5= >=4 <>65F 5OFL ?>-
?57=4. 

�DG74O ?D>5?5<4 3 >4> MDD5>F<6=> GE6><FL <4F5D<4? >=<7<. �4G5EF6> 



24 

GE6>5=<O GG55=>7> <4F5D<4?4 EGM5EF65==> 746<EOF >F <4=5D4 ?D>GF5=<O >=<7<. 
�>6=> 6O45?<FL ?OFL >E=>6=OE ?D<5<>6 D45>FO E ?<F5D4FGD>=: 

'F5=<5-?D>E<>FD <E?>?L7G5FEO 4?O ?D5464D<F5?L=>7> >7=4>><?5=<O E >=<-
7>=, >F5=>< 55 F5==>EF<. �= ?D54?>?4745F >7=4>><?5=<5 E 4==>F4F<5=, ?D54<-
E?>6<5<, >7?46?5=<5<, 74>?NG5=<5< >=<7<, ?><E> ?> >7?46?5=<N =4<5>?55 646-
=OE <OE?5= < 6O6>4>6 46F>D4 ?D><76545=<O. 

�O5>D>G=>5 GF5=<5 ?D54?>?4745F <75<D4F5?L=>5 GF5=<5 >F45?L=OE D4745-
?>6 F5>EF4. -F>F <5F>4 <E?>?L7G5FEO, >4> ?D46<?>, ?>E?5 ?D5464D<F5?L=>7> ?D>-
E<>FD4 >=<7<, ?D< 55 6F>D<G=>< GF5=<<. 

%>4=<D>64=<5 ?D54EF46?O5F 5OEFDO= ?D>E<>FD >=<7< E F5?LN ?><E>4 D4-
<<?<<, D4>F4, >F5=>< < 4D.  

'7?G5?5==>5 GF5=<5 ?D54?>?4745F >5D4M5=<5 6=<<4=<O =4 45F4?< E>45D-
64=<O F5>EF4, 57> 4=4?<7 < >F5=>G. %>>D>EFL ?>4>5=>7> 6<44 GF5=<O E>EF46?O5F 
>D<5=F<D>6>G=> 4> 7-10 EFD4=<F 6 G4E. �=4 <>65F 5OFL < 6OH5, 5E?< G<F4F5?L 
G65 >5?4445F >?D545?5==O< 7=4=<5< ?> F5<5 >=<7< <?< EF4FL<. 

'7?G5?5==>5 GF5=<5 ?<F5D4FGDO ?D54?>?4745F:  
÷ %FD5<?5=<5 > ?>=<<4=<N ?D>G<F4==>7>. �57 ?>=<<4=<O E<OE?4, ?D>G<-

F4==>7> <=D>D<4F<N 55 >G5=L FDG4=> 74?><=<FL. 
÷ �54G<O64=<5 <7?>65==>= 6 >=<75 <=D>D<4F<<. &>744 E>5EF65==O5 

<OE?<, 6>7=<>H<5 6 E>45 7=4>><EF64 E GG6<<< D45>F4<<, ?>E?G64F >E=>6=>= 
4?O ?>?GG5=<O =>6>7> 7=4=<O. 

÷ �OE?5==>5 6O45?5=<5 >?NG56OE E?>6, <45= D474D>5?5=<5 E>45D64=<O 
F5>EF4 =4 ?>7<G5E><5 5?>><, E>EF46?5=<5 ??4=4 ?D>G<F4==>7>. �E?< EFG45=F <<5-
5F 45?> E ?<G=>= >=<7>=, F> >?NG56O5 E?>64 < <OE?< <>6=> ?>4G5D>=GFL >4D4=-
44H><. 

÷ %>EF46?5=<5 >>=E?5>F4 <7GG5==>7> <4F5D<4?4. �E?< EF4FLO <?< D4745? 
>=<7< ?> >5N5<G =55>?LH>=, F> F5?5E>>5D47=> ?D<EFG?<FL > >>=E?5>F<D>64=<N, 
?D>G<F46 <E ?>?=>EFLN. � 4DG7<E E?GG4OE 65?4F5?L=> ?D>G<F4FL 7-10 EFD4=<F. 
 

7. $>=4O >F5=>G=OE ED54EF6 

$>=4 >F5=>G=OE <4F5D<4?>6 (ED54EF6) 4?O ?D>6545=<O F5>GM5=, ?D><5-
6GF>G=>= 4FF5EF4F<< >5GG4NM<EEO ?> 4<EF<??<=5 (<>4G?N) <?< ?D4>F<>5, 
6E>4OM<= 6 E>EF46 E>>F65FEF65==> D45>G5= ?D>7D4<<O 4<EF<??<=O (<>4G?O) 
<?< ?D>7D4<<O ?D4>F<><, 6>?NG45F 6 E55O: 

1. ?5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>F5EE5 
>E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O; 

2. >?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O >><?5F5=F<= =4 D47?<G-
=OE MF4?4E <E D>D<<D>64=<O, >?<E4=<5 H>4?O >F5=<64=<O; 

3. F<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 4?O 
>F5=>< 7=4=<=, G<5=<=, =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E 
MF4?O D>D<<D>64=<O >><?5F5=F<=; 

4. <5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 7=4-
=<=, G<5=<=, =46O>>6, E4D4>F5D<7GNM<E MF4?O D>D<<D>64=<O >><?5F5=F<=. 

�?O >464>7> D57G?LF4F4 >5GG5=<O ?> 4<EF<??<=5 >D74=<74F<O >?D545?O5F 
?>>474F5?< < >D<F5D<< >F5=<64=<O ED>D<<D>64==>EF< >><?5F5=F<= =4 D47?<G-



25 

=OE MF4?4E <E D>D<<D>64=<O, H>4?O < ?D>F54GDO >F5=<64=<O. 
 

7.1. �5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>F5E-

E5 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O 
%5<5EFD 
(>GDE) 

�<EF<??<=O /M?5<5=FO ?D>7D4<<O (?D4>F<><, ���), GG4EF6GNM<5 6 D>D<<D>64=<< >><?5F5=-
F<< 

��-1 %?>E>55= >?D545?<FL ?>FD55=>EFL 6 D4EE>4=OE <4F5D<4?4E, 4 F4>65 D4F<>=4?L=O5 D>D<O ?>4-

45D64=<O < 6>EEF4=>6?5=<O D45>F>E?>E>5=>EF< �&% < <E >><?>=5=F>6 4?O ?D>6545=<O D45>F ?> &� < 

D5<>=FG FD4=E?>DF=OE ED54EF6 

��-1��-1 �EGM5EF6?O5F <45=F<D<>4F<N >>=EFDG>F<6=OE >E>55==>EF5= FD4=E?>DF=OE ED54EF6 < 

(<?<) <E >><?>=5=F>6 

3(2) $476<F<5 < E>6D5<5==>5 E>EF>O=<5 <<D>6>= 46F><>5<?<74F<< 
2(2) �6F><>5<?L=O5 46<74F5?< 
2(2) �>=EFDG>F<O < M>E??G4F4F<>==O5 E6>=EF64 &<&&�� 
2(2) -?5>FD>F5E=<>4 < M?5>FD>>5>DG4>64=<5 &<&&�� 
1(1) �6545=<5 6 E?5F<4?L=>EFL 
3(2) �E=>6O F5E=>?>7<< ?D><76>4EF64 < D5<>=F4 &<&&�� 
4(3) �E>55==>EF< >>=EFDG>F<< < >5E?G6<64=<O <=>EFD4==OE 46F><>5<?5= 
2(1) �7=4>><<F5?L=4O ?D4>F<>4 
4(2) &5E=>?>7<G5E>4O (?D><76>4EF65==>-F5E=>?>7<G5E>4O) ?D4>F<>4 
6(3) ->E??G4F4F<>==4O ?D4>F<>4 
8(4) �D544<??><=4O ?D4>F<>4 
��-2��-1 �D>6>4<F >F5=>G F5E=<>>-M>E??G4F4F<>==OE E6>=EF6 FD4=E?>DF=OE ED54EF6 < (<?<) <E 

>><?>=5=F>6 

2(2) �6F><>5<?L=O5 46<74F5?< 
2(2) �>=EFDG>F<O < M>E??G4F4F<>==O5 E6>=EF64 &<&&�� 
2(2) -?5>FD>F5E=<>4 < M?5>FD>>5>DG4>64=<5 &<&&�� 
4(2) �>7<EF<>4 =4 FD4=E?>DF5 
5(3) &D4=E?>DF=>-M>E??G4F4F<>==O5 >4G5EF64 46F><>5<?L=OE 4>D>7 < 7>D>4E><E G?<F 
4(2) �E=>6O F5E=>?>7<< ?D><76>4EF64 < D5<>=F4 &<&&�� 
8(4) �D544<??><=4O ?D4>F<>4 
��-11��-1 �EGM5EF6?O5F 6O5>D 4>>G<5=F4F<<, GEF4=46?<64NM5= FD55>64=<O > 4>?GEF<<><G 7=4G5-

=<N >>=EFDG>F<6=OE ?4D4<5FD>6 < E4D4>F5D<EF<> 47D574F>6 < 45F4?5= FD4=E?>DF=OE ED54EF6 

4,5 ,6(2,3) �>=EFDG>F<O < M>E??G4F4F<>==O5 E6>=EF64 &<&&�� 
8(4) �D544<??><=4O ?D4>F<>4 
8(4) �O?>?=5=<5, ?>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4F<>==>= D45>FO 

 
7.2 �?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O >><?5F5=F<= 

�>>474F5-
?< 

�D<F5D<< >F5=<64=<O 
,>4?4 ?> FD44<F<>==>= ?OF<54??L=>= E<EF5<5 

4>?>D>7>6O= 
(«=5G4>6?5F6>-

D<F5?L=>») 

�>D>7>6O= 
(«G4>6?5F6>D<F5?L=>») 

�D>46<=GFO= 
(«E>D>H>») 

�OE>><= 
(«>F?<G=>») 

��-1 %?>E>55= >?D545?<FL ?>FD55=>EFL 6 D4EE>4=OE <4F5D<4?4E, 4 F4>65 D4F<>=4?L=O5 D>D<O ?>4-

45D64=<O < 6>EEF4=>6?5=<O D45>F>E?>E>5=>EF< �&% < <E >><?>=5=F>6 4?O ?D>6545=<O D45>F ?> &� < 

D5<>=FG FD4=E?>DF=OE ED54EF6 

��-1 �EGM5EF6?O5F <45=F<D<>4F<N >>=EFDG>F<6=OE >E>55==>EF5= FD4=E?>DF=OE ED54EF6 < (<?<) <E 

>><?>=5=F>6 

�=4=<O �FEGFEF6<5 <?< 
=4?<G<5 DD47<5-
F4D=OE 7=4=<=, 
?D54GE<>FD5=-
=OE 44==>= >><-
?5F5=F<5= 

�=45F <45=F<D<>4F<N 
>>=EFDG>F<6=OE >E>-
55==>EF5= FD4=E?>DF-
=OE ED54EF6 < (<?<) <E 
>><?>=5=F>6 E EGM5-
EF65==O<< >H<5>4<< 

�=45F <45=F<D<>4F<N 
>>=EFDG>F<6=OE >E>-
55==>EF5= FD4=E?>DF-
=OE ED54EF6 < (<?<) <E 
>><?>=5=F>6 E =5EGM5-
EF65==O<< >H<5>4<< 

�=45F <45=F<D<>4F<N 
>>=EFDG>F<6=OE >E>-
55==>EF5= FD4=E?>DF-
=OE ED54EF6 < (<?<) <E 
>><?>=5=F>6 =4 6OE>-
>>< GD>6=5 

'<5=<O �FEGFEF6<5 G<5-
=<=, ?D54GE<>F-
D5==OE 44==>= 
>><?5F5=F<5= 

'<55F <45=F<D<F<D>-
64FL >>=EFDG>F<6=O5  
>E>55==>EF< FD4=E-
?>DF=OE ED54EF6 < 
(<?<) <E >><?>=5=F>6 E 

'<55F <45=F<D<F<D>-
64FL >>=EFDG>F<6=O5  
>E>55==>EF< FD4=E-
?>DF=OE ED54EF6 < 
(<?<) <E >><?>=5=F>6 E 

'<55F <45=F<D<F<D>-
64FL >>=EFDG>F<6=O5  
>E>55==>EF< FD4=E-
?>DF=OE ED54EF6 < 
(<?<) <E >><?>=5=F>6 O 



26 

EGM5EF65==O<< 74-
FDG4=5=<O<<. 

=5>>F>DO<< 74FDG4=5-
=<O<< 

=4 6OE>>>< GD>6=5 

�46O>< �FEGFEF6<5 <?< 
=4?<G<5 DD47<5-
F4D=OE =46O>>6 
?D54GE<>FD5=-
=OE 44==>= >><-
?5F5=F<5= 

�?4455F =46O>4<< 
<45=F<D<>4F<< >>=-
EFDG>F<6=O5 >E>55==>-
EF< FD4=E?>DF=OE 
ED54EF6 < (<?<) <E >><-
?>=5=F>6 E EGM5EF65=-
=O<< =4 =<7>>< 
GD>6=5. 

�?4455F =46O>4<< 
<45=F<D<>4F<< >>=-
EFDG>F<6=O5 >E>55==>-
EF< FD4=E?>DF=OE 
ED54EF6 < (<?<) <E 
>><?>=5=F>6 E =5>>F>-
DO<< 74FDG4=5=<O<< 

�?4455F =46O>4<< 
>5>E=>64=<O <45=F<-
D<>4F<< >>=EFDG>F<6-
=O5 >E>55==>EF< 
FD4=E?>DF=OE ED54EF6 
< (<?<) <E >><?>=5=F>6 
6 ?>?=>< >5N5<5 

��-2 �D>6>4<F >F5=>G F5E=<>>-M>E??G4F4F<>==OE E6>=EF6 FD4=E?>DF=OE ED54EF6 < (<?<) <E >><?>-

=5=F>6 

�=4=<O �FEGFEF6<5 <?< 
=4?<G<5 DD47<5-
F4D=OE 7=4=<=, 
?D54GE<>FD5=-
=OE 44==>= >><-
?5F5=F<5= 

�=45F >F5=>G F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E >><-
?>=5=F>6 E EGM5EF65=-
=O<< >H<5>4<< 

�=45F >F5=>G F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E 
>><?>=5=F>6 E =5EGM5-
EF65==O<< >H<5>4<< 

�=45F >F5=>G F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E 
>><?>=5=F>6 =4 6OE>-
>>< GD>6=5 

'<5=<O �FEGFEF6<5 G<5-
=<=, ?D54GE<>F-
D5==OE 44==>= 
>><?5F5=F<5= 

'<55F ?D>6>4<FL >F5=-
>G F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E >><-
?>=5=F>6 E EGM5EF65=-
=O<< 74FDG4=5=<O<< 

'<55F ?D>6>4<FL >F5=-
>G F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E 
>><?>=5=F>6 E =5>>F>-
DO<< 74FDG4=5=<O<< 

'<55F ?D>6>4<FL >F5=-
>G F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E 
>><?>=5=F>6 =4 6OE>-
>>< GD>6=5 

�46O>< �FEGFEF6<5 <?< 
=4?<G<5 DD47<5-
F4D=OE =46O>>6 
?D54GE<>FD5=-
=OE 44==>= >><-
?5F5=F<5= 

�?4455F =46O>4<< 
>F5=>< F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E >><-
?>=5=F>6 =<7>>< 
GD>6=5 

�?4455F =46O>4<< 
>F5=>< F5E=<>>-
M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E 
>><?>=5=F>6 6 4>EF4-
F>G=>< >5N5<5 

�?4455F >F5=>< F5E=<-
>>-M>E??G4F4F<>==OE 
E6>=EF6 FD4=E?>DF=OE 
ED54EF6 < (<?<) <E 
>><?>=5=F>6 6 ?>?=>< 
>5N5<5 

��-11 �EGM5EF6?O5F 6O5>D 4>>G<5=F4F<<, GEF4=46?<64NM5= FD55>64=<O > 4>?GEF<<><G 7=4G5=<N 

>>=EFDG>F<6=OE ?4D4<5FD>6 < E4D4>F5D<EF<> 47D574F>6 < 45F4?5= FD4=E?>DF=OE ED54EF6 

�=4=<O �FEGFEF6<5 <?< 
=4?<G<5 DD47<5-
F4D=OE 7=4=<=, 
?D54GE<>FD5=-
=OE 44==>= >><-
?5F5=F<5= 

�=45F 4>>G<5=F4F<<, 
GEF4=46?<64NM5= FD5-
5>64=<O > 4>?GEF<<><G 
7=4G5=<N >>=EFDG>F<6-
=OE ?4D4<5FD>6 < E4-
D4>F5D<EF<> 47D574F>6 < 
45F4?5= FD4=E?>DF=OE 
ED54EF6 >H<5>4<< 

�=45F 4>>G<5=F4F<<, 
GEF4=46?<64NM5= FD5-
5>64=<O > 4>?GEF<<>-
<G 7=4G5=<N >>=EFDG>-
F<6=OE ?4D4<5FD>6 < 
E4D4>F5D<EF<> 47D574-
F>6 < 45F4?5= FD4=E-
?>DF=OE ED54EF6 E =5-
EGM5EF65==O<< >H<5-
>4<< 

�=45F 4>>G<5=F4F<<, 
GEF4=46?<64NM5= FD5-
5>64=<O > 4>?GEF<<>-
<G 7=4G5=<N >>=EFDG>-
F<6=OE ?4D4<5FD>6 < 
E4D4>F5D<EF<> 47D574-
F>6 < 45F4?5= FD4=E-
?>DF=OE ED54EF6 =4 
6OE>>>< GD>6=5 

'<5=<O �FEGFEF6<5 G<5-
=<=, ?D54GE<>F-
D5==OE 44==>= 
>><?5F5=F<5= 

'<55F 6O5<D4FL 4>>G-
<5=F4F<<, GEF4=46?<-
64NM5= FD55>64=<O > 
4>?GEF<<><G 7=4G5=<N 
>>=EFDG>F<6=OE ?4D4-
<5FD>6 < E4D4>F5D<EF<> 
47D574F>6 < 45F4?5= 
FD4=E?>DF=OE ED54EF6 E 
EGM5EF65==O<< 74-
FDG4=5=<O<< 

'<55F 6O5<D4FL 4>>G-
<5=F4F<<, GEF4=46?<-
64NM5= FD55>64=<O > 
4>?GEF<<><G 7=4G5=<N 
>>=EFDG>F<6=OE ?4D4-
<5FD>6 < E4D4>F5D<-
EF<> 47D574F>6 < 45F4-
?5= FD4=E?>DF=OE 
ED54EF6 E =5>>F>DO<< 
74FDG4=5=<O<< 

'<55F 6O5<D4FL 4>>G-
<5=F4F<<, GEF4=46?<-
64NM5= FD55>64=<O > 
4>?GEF<<><G 7=4G5=<N 
>>=EFDG>F<6=OE ?4D4-
<5FD>6 < E4D4>F5D<-
EF<> 47D574F>6 < 45F4-
?5= FD4=E?>DF=OE 
ED54EF6 =4 6OE>>>< 
GD>6=5 

�46O>< �FEGFEF6<5 <?< 
=4?<G<5 DD47<5-
F4D=OE =46O>>6 
?D54GE<>FD5=-
=OE 44==>= >><-
?5F5=F<5= 

�?4455F =46O>4<< 6O-
5>D4 4>>G<5=F4F<<, 
GEF4=46?<64NM5= FD5-
5>64=<O > 4>?GEF<<><G 
7=4G5=<N >>=EFDG>F<6-
=OE ?4D4<5FD>6 < E4-
D4>F5D<EF<> 47D574F>6 < 
45F4?5= FD4=E?>DF=OE 

�?4455F =46O>4<< 6O-
5>D4 4>>G<5=F4F<<, 
GEF4=46?<64NM5= FD5-
5>64=<O > 4>?GEF<<>-
<G 7=4G5=<N >>=EFDG>-
F<6=OE ?4D4<5FD>6 < 
E4D4>F5D<EF<> 47D574-
F>6 < 45F4?5= FD4=E-

�?4455F =46O>4<< 6O-
5>D4 4>>G<5=F4F<<, 
GEF4=46?<64NM5= FD5-
5>64=<O > 4>?GEF<<>-
<G 7=4G5=<N >>=EFDG>-
F<6=OE ?4D4<5FD>6 < 
E4D4>F5D<EF<> 47D574-
F>6 < 45F4?5= FD4=E-
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ED54EF6 =4 =<7>>< 
GD>6=5 

?>DF=OE ED54EF6 6 4>-
EF4F>G=>< >5N5<5 

?>DF=OE ED54EF6 6 
?>?=>< >5N5<5 

 

7.3 &<?>6O5 >>=FD>?L=O5 7444=<O 

&5EFO 4?O F5>GM57> < ?D><56GF>G=>7> >>=FD>?O 

�D<<5D F5EF>6 4?O F5>GM57> < ?D><56GF>G=>7> >>=FD>?O 

 

1. �> >4><< ?D<7=4>4< >?4EE<D<F<DGNF 46F><>5<?<? 

1. ?> F<?G H4EE< <?< >EF>64; 
2. ?> =47=4G5=<N; 
3. ?> >>=EFDG>F<< E>4>6>= G4EF<. 
 
2. �?O G57> E?G6<F 46<74F5?L? 

1. 4?O ?D5>5D47>64=<O F5??>6>= M=5D7<< 6 <5E4=<G5E>GN; 
2. 4?O ?5D544G< <>M=>EF< E>4>6>= G4EF< <4H<=O; 
3. 4?O ?5D544G< >DGFOM57> <><5=F4 >>?5E4< <4H<=O. 
 
3.�4> >EGM5EF6?O5FEO ?GE> 46<74F5?O 46F><>5<?O? 
1. ?GE>>6O< 46<74F5?5< <?< M?5>FD<G5E><< EF4DF5D><; 
2. ?GE>>6O< 46<74F5?5<; 
3. M?5>FD>EF4DF5D><; 
4. 746>4=>= DGG>>= 6DGG=GN. 
 
4.�4> >EF4=>6<FL D45>F4NM<= 46<74F5?L 46F><>5<?O /46<74F5?L >4D5ND4-

F>D=O=/? 

1. 6O>?NG5=<5< ?>44G< F>??<64; 
2.=47DG65=<5< 46<74F5?O; 
3. >F>?NG5=<5< E<EF5<O 746<74=<O. 
 
5. 'F> =47O645FEO ?<FD46>< 46<74F5?O? 

1. EG<<4 ?>?=OE >5N5<>6 6E5E F<?<=4D>6; 
2. EG<<4 D45>G<E >5N5<>6 F<?<=4D>6; 
3. EG<<4 >5N5<>6 >4<5D E7>D4=<O 6E5E F<?<=4D>6. 
  
6. �7 >4><E 45F4?5= E>EF><F �,�? 

1. ?>DH5=L, F<?<=4D, ?>DH=56O5 >>?LF4, <4E>6<>; 
2. ?>44>= >4DF5D4, ?D<6>4=>= H><6, ?>DH=56O5 ?4?LFO, >>D5==O5 < H4FG==O5 
H5=><, 6>?44OH<, 5>5OH>< ?>DH=O; 
3. ?>DH5=L, 6FG?>< H4FG=4, 7>?>6>4 F<?<=4D>6, >>?5=G4FO= 64?; 
4. ?>DH5=L, H4FG=, >>?5=64?, <4E>6<>, F<?<=4D. 
 
7. �4><< >5D47>< >G<M45FEO <4E?> 6 ?>?>EFOE L4FG==OE L55> >>?5=G4F>-

7> 64?4? 

1. <4E?O=O<< D<?LFD4<<; 
2. F5=FD>556=O<< E<?4<<; 
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3. =5 >G<M45FEO. 
 
8. �4>>6O >E=>6=O5 ?D<7=4>< =5<E?D46=>EF< �,�? 

1.E<?L=>54O<?5=<5; 
2. ?445=<5 446?5=<O <4E?4 6 E<EF5<5; 
3. EFG>< < HG<O 6 46<74F5?5; 
4. 6E5 6OH5 ?5D5G<E?5==O5 ?D<7=4><; 
5.?5D57D56 <4E?4 6 46<74F5?5. 
 
9.�>DO4>> D45>FO F<?<=4D>6 46<74F5?O: 

1. 1-2-3-4; 
2. 1-4-2-3; 
3. 1-3-4-2. 
 
10. �4>>5 =47=4G5=<5 <<55F D4E?D545?<F5?L=O= <5E4=<7<? 
1.E6>56D5<5==> >F>DO645F >?4?4=4; 
2. >55E?5G<645F E6>56D5<5==O= 6?GE> 6 F<?<=4DO 6>74GE4 < F>??<64 (G 4<75-
?5=) <?< 7>DNG5= E<5E< (G >4D5ND4F>D=>7> 46<74F5?O) < 6O?GE> <7 F<?<=4D>6 
>FD45>F4==OE 747>6; 
3. >55E?5G<645F E6>56D5<5==O= 6?GE> 6 F<?<=4DO 6>74GE4 <?< 7>DNG5= E<5E< < 
6O?GE> >FD45>F4==OE 747>6. 
 
11. �?O G57> E?G6<F 45>><?D5EE<>==O= <5E4=<7<? 

1.G65?<G<FL >><?D5EE<N 6 F<?<=4D5; 
2. G<5=LH<FL >><?D5EE<N 6 F<?<=4D5; 
3. >55E?5G<FL ?GE> 46<74F5?O; 
4. >55E?5G<64FL, ?D>7D56 E>?>4=>7> 46<74F5?O. 
 
12. �?O G57> ?D54=47=4G5=O F>??<6=O5 D<?LFDO? 

1.4?O >G<EF>< F>??<64 >F <5E4=<G5E><E ?D<<5E5=; 
2.4?O >G<EF>< F>??<64 >F <5E4=<G5E><E ?D<<5E5= < 6>4O; 
3.4?O >G<EF>< F>??<64 >F <5E4=<G5E><E ?D<<5E5= 6>4O < <4E?4. 
 
13.�4>>7> F<?4 ?>4>4G<64NM<= =4E>E GEF4=>6?5= 6 E<EF5<5 ?<F4=<O 4<75-

?O �-240 < �-41? 

1. 4<4DD47<5==O=; 
2. H5EF5D5=G4FO=; 
3. D>F>D=O=; 
4. ?>DH=56>=. 
 
14. �F G57> ?D<6>4<FEO 6 45=EF6<5 ?>4>4G<64NM<= =4E>E 4<75?O �-240 < 

�-41? 

1. >F H5EF5D=< D4E?D545?<F5?L=>7> 64?4; 
2. >F H5EF5D=< >>?5=G4F>7> 64?4; 
3. >F M>EF5=FD<>4 >G?4G>>6>7> 64?4 F>??<6=>7> =4E>E4; 
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4. >F M>EF5=FD<>4 D4E?D545?<F5?L=>7> 64?4. 
 
15. �4> <7<5=O5FEO >>?<G5EF64 F>??<64, ?>44645<>7> =4E>E>< 4 &�-9E 

10& 4<75?O �-41? 

1. ?>6>D>F>< ??G=65D4 6>>DG7 57> >E< 6FG?>>= E 7G5G4FO< 65=F><; 
2. ?>6>D>F>< ??G=65D4 ?D< ?><>M< 57> ?>6>4>4; 
3. D57G?<D>6>G=O< 6<=F>< F>?>4F5?O. 
 
16. �4><5 D>DEG=>< GEF4=>6?5=O =4 4<75?OE �-240 < �-41? 

1.74>DOFO5 55EHF<DF>6O5; 
2. >F>DOFO5 E <=>7>4ODG4FO< D4E?O?<F5?5<; 
3. 74>DOFO5 HF<DF>6O5; 
4. 74>DOFO5 55EHF<DF>6O5 E <=>7>4ODG4FO< D4E?O?<F5?5<. 
 
17. � >4>>< E>>F=>L5=<< E<5L<64NF 55=7<= E <4E?>< ?5D54 F5<, >4> 74?<-

FL57> 6 54> ?GE>>6>7> 46<74F5?O? 

1.10 > 1;  
2.15 > 1; 
3.20 > 1; 
4.25 > 1.  
 
18. �4>GN E<5EL 4>?65= ?D<7>F>6<FL >4D5ND4F>D, >>744 >4D5ND4F>D=O= 

46<74F5?L D476<645F ?>?=GN <>M=>EFL? 

1. =>D<4?L=GN; 
2. >5>74M5==GN; 
3. 5>74FGN; 
4. >554=5==GN.  
 
19. �?O G57> ?D54=47=4G5= >>DD5>F>D 6E5D56<<=>7> D57G?OF>D4? 

1. 46F><4F<G5E>< <7<5=OFL ?>44GG F>??<64 6 F<?<=4DO 6 746<E<<>EF< >F 
=47DG7><; 
2. G65?<G<FL ?>44GG F>??<64 =4 >464O= 6?DOE> ?D< >D4F>>6D5<5==>= =47DG7>5 
46<74F5?O; 
3. ?>445D6<645F ?>EF>O==GN G4EF>FG 6D4M5=<O >>?5=G4F>7> 64?4 4<75?O.  
 
20.'>46<F5 ?D<G<=O ?5D57D564 46<74F5?O: 

1. >5D47>64=<5 =4><?< =4 EF5=>4E 6>4O=>= DG54H>< < 6 FDG5>4E D44<4F>D4; 
2. 74<5D74=<5 6>4O 6 D44<4F>D5; 
3. =4DG6=>5 747DO7=5=<5 E5D4F56<=O D44<4F>D4; 
4. ?D>5G>E>6O64=<5 <?< >5DO6 D5<=O 65=F<?OF>D4; 
5. 6E5 6OH5G>474==O5 ?D<G<=O. 
 
21. �D< >4>>= F5<?5D4FGD5 >E?4644NM5= 6<4>>EF< ��% D45>F45F =>D-

<4?L=>? 

1.30 %; 
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2.600%; 
3.900 %; 
4. 1200%. 
 
22. �4> ?D>65DONF <E?D46=>EFL F5=FD<DG7< =4 D45>F4NM5< 46<74F5?5? 

1 ?> 446?5=<N <4E?4 6 E<EF5<5; 
2. ?> HG<G <?< 76G>G; 
3.?> F5<?5D4FGD5 <4E?4; 
4. ?> F65FG <4E?4 6 ?>4>==5 >4DF5D4. 
 
23. �F G57> ?>?GG45F ?D<6>4 <4E?O=O= =4E>E 6 4<75?L=OE 46<74F5?OE? 

1. >F D4E?D545?<F5?L=>7> 64?4; 
2. >F D4E?D545?<F5?L=OE H5EF5D5=; 
3. >F H5EF5D=< >>?5=G4F>7> 64?4. 
 
24. �4>>6> =47=4G5=<5 4<DD5D5=F<4?4 

1. >55E?5G<645F 6D4M5=<5 654GM<E >>?5E E D47?<G=>= G4EF>F>= ?D< 46<65=<< 
46F><>5<?O =4 =5D>6=OE GG4EF>4E ?GF<; 
2. >55E?5G<645F 6D4M5=<5 654GM<E >>?5E E D47?<G=>= G4EF>F>= ?D< 46<65=<< 
46F><>5<?O =4 ?>6>D>F4E; 
3. >55E?5G<645F 6D4M5=<5 654GM<E >>?5E E D47?<G=>= G4EF>F>= ?D< 46<65=<< 
46F><>5<?O =4 ?>6>D>F4E 6 =5D>6=OE GG4EF>4E ?GF<. 
25.� >4>>< E?GG45 E4F5??<FO 4<DD5D5=F<4?4 =5 6D4M4NFEO 6>>DG7 E6><E 

>E5=? 

1.?D< 46<65=<< 46F><>5<?O ?> ?DO<>=; 
2. ?D< 46<65=<O =4 ?>6>D>F4E; 
3. ?D< 46<65=<< =4 =5D>6=OE GG4EF>4E 4>D>7<. 
 
26. �4>>6> =47=4G5=<5 >>D>5>> ?5D5<5=O ?5D544G? 

1. 4?O <7<5=5=<O E>>D>EF< 46<65=<O; 
2. 4?O <7<5=5=<O =4?D46?5=<O 46<65=<O; 
3. 4?O <7<5=5=<O >DGFOM57> <><5=F4; 
4.4>O 6E5E 6OH5?5D5G<E?5==OE <7<5=5=<=. 
 
27. �4>>6> =47=4G5=<5 <GDFO EF5??5=<O? 

1. 4?O >F>?NG5=<O >>?5=G4F>7> 64?4 46<74F5?O >F >>D>5>< ?5D544G; 
2. 4?O >EF4=>6>< FD4>F>D4 E D45>F4NM<< 46<74F5?5<; 
3. 4?O ?D54>ED4=5=<O >F ?>?><>> 45F4?5= E<?>6>= ?5D544G< ?D< D57>>< 6>7D4E-
F4=<< =47DG7><. 
 
28.�?O >4>>= F5?< <E?>?L7GNF =4 46F><>5<?OE F>D<>7=GN E<EF5<G? 

1. 4?O E=<65=<O E>>D>EF<; 
2. 4?O >EF4=>6>< 46F><>5<?O < G45D64=<O 57> 6 =5?>46<6=>< E>EF>O=<<; 
3. 4?O E=<65=<O E>>D>EF< < >EF4=>6><.  
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29.�4><5 ?D<6>4O F>D<>7>6 ?D<<5=ONF =4 46F><>5<?OE? 

1. 4<E>>6O5 E <5E4=<G5E><< ?D<6>4>< < 54D454==O5 E ?=56<4F<G5E><< ?D<6>-
4><; 
2. 4<E>>6O5 < 54D454==O5 E 7<4D46?<G5E><< ?D<6>4><; 
3. ?5=F>G=O5 E <5E4=<G5E><< ?D<6>4><. 
 
30.  �4>>6> =47=4G5=<5 E>4>6>= G4EF< 46F><>5<?O? 

1. 4?O GEF4=>6>< 46<74F5?O; 
2. 4?O ?D5>5D47>64=<O >DGFOM57> <><5=F4, ?>46>4<<>7> > ?>?G>EO< 654GM<E 
>>?5E, 6 ?>EFG?4F5?L=>5 46<65=<5;  
3. 4?O D46=><5D=>7> D4E?D545?5=<O 65E4 46F><>5<?O =4 57> >>?5E4. 
 

 �D<F5D<< >F5=>< D57G?LF4F>6 F5EF<D>64=<O 

 
90-100% ?D46<?L=OE >F65F>6 3 >F?<G=> 

75-89% ?D46<?L=OE >F65F>6 3 E>D>L> 

60-74% ?D46<?L=OE >F65F>6 3 G4>6?5F6>D<F5?L=> 

<5=55 60% ?D46<?L=OE >F65F>6 3 =5G4>6?5F6>D<F5?L=> 

 
�?NG< > F5EF4< 

 

 1 2 3 

1   + 
2  +  
3 +   
4  +  
5 +   
6  +  
7   + 
8 +   
9 +   

10   + 
11  +  
12   + 
13   + 
14   + 
15 +   
16  +  
17   + 
18  +  
19  +  
20 +   
21   + 
22 +   



32 

23 +   
24  +  
25  +  
26   + 
27  +  
28 +   
29   + 
30   + 

 

->74<5=4F<>==O5 6>?D>EO 

1. &D4=E<<EE<O. �47=4G5=<5, E>EF46, =5>5E>4<<>EFL >464>7> <5E4=<7<4. 
2. %F5??5=<5. �47=4G5=<5. %?5F<D<G5E><5 FD55>64=<O, >?4EE<D<>4F<O. 
3. $45>G<= ?D>F5EE EF5??5=<O, E>744=<5 =5>5E>4<<>7> <><5=F4 EF5??5-

=<O. 
4. �>MDD<F<5=F 74?4E4 EF5??5=<O, 6O5>D 57> 65?<G<=O. 
5. �?D545?5=<5 >E=>6=OE D47<5D>6 EF5??5=<O. 
6. %F5??5=<5 E 4<4DD47<5==>= ?DG6<=>= < 55 D4EG5F. 
7. �4D44==4O ?5D544G4. �47=4G5=<5, E?5F<D<G5E><5 FD55>64=<O, >?4EE<-

D<>4F<O. 
8. $4EG5F >4D44==>7> 64?4 
9. �?46=4O ?5D544G4 46F><>5<?O. �47=4G5=<5, E?5F<D<G5E><5 FD55>64=<O, 

>?4EE<D<>4F<O. 
10. �<?><4=4O 7?46=4O ?5D544G4, 55 75><5FD<O. �>DG6=O5 E<?O 6 7<?><4-

=>= ?5D544G5. 
11. �<DD5D5=F<4?. �47=4G5=<5, E?5F<D<G5E><5 FD55>64=<O, >?4EE<D<>4-

F<O. 
12. �?D545?5=<5 >E=>6=OE D47<5D>6 EF5??5=<O. 
13. �>D>5>4 ?5D544G. �47=4G5=<5, E?5F<D<G5E><5 FD55>64=<O, 
>?4EE<D<>4F<O. 
14. �E=>6=O5 EE5<O >>D>5>> ?5D544G E =5?>46<6=O<< >EO<< 64?>6 
15. �56>E56>5 D4EEF>O=<5 FD5E64?L=OE >>D>5>> ?5D544G, 57> 6O5>D 
16. '7>? =4>?>=4 7G54, 57> 6O5>D 4?O >>?5E >>D>5>< ?5D544G 
17. %<=ED>=<74F>D. �47=4G5=<5 < ?D<=F<? D45>FO. 
18. �?D545?5=<5 75><5FD<G5E><E ?4D4<5FD>6 E<=ED>=<74F>D4 
19. �><5=F FD5=<O < G45?L=4O D45>F4 FD5=<O 6 E<=ED>=<74F>D5 
20. �E>55==>EF< D4EG5F4 64?>6 >>D>5>< ?5D544G. 
21. �>45>D ?>4H<?=<>>6 >>D>5>< ?5D544G. 
22. �?4=5F4D=O5 ?5D544G< < <E 6>7<>6=>EF<. 
23. �5EEFG?5=G4FO5 ?5D544G<. �47=4G5=<5, E?5F<D<G5E><5 FD55>64=<O, 
>?4EE<D<>4F<O. 
24. �D<=F<? D45>FO 7<4D>FD4=ED>D<4F>D4. 
25. �E=>6=O5 ?4D4<5FDO 7<4D>FD4=ED>D<4F>D4. �57D47<5D=4O 
E4D4>F5D<EF<>4 7<4D>FD4=ED>D<4F>D4. 
26. �D>EF5=H4O EE5<4 >4D44==>7> H4D=<D4, 55 4=4?<7. 
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27. �<=5<4F<>4 65EF>>7> >4D44==>7> H4D=<D4 E >D5EF>6<=>=. 
28. �5D46=><5D=>EFL ?5D544G< G7?>6>= E>>D>EF< >4D44==O< H4D=<D><, 
GE?>6<5 55 6>7=<>=>65=<O < E?>E>5O >55E?5G5=<O D46=><5D=>EF<. 
29. �D<F<G5E>4O G4EF>F4 6D4M5=<O >4D44==>7> 64?4. %?>E>5O 
>55E?5G5=<O 74?4E4 G4EF>FO 6D4M5=<O. 
30. $4EG5F >E=>6=OE M?5<5=F>6 >4D44==OE H4D=<D>6 E >D5EF>6<=>=. 
31. ,4D=<DO D46=OE G7?>6OE E>>D>EF5=. �E=>6=O5 F<?O < ?D<=F<?O 
D45>FO. $4EG5F D45>G<E M?5<5=F>6. 
32. �4?O < ?>4H<?=<>< 7?46=OE ?5D544G. �55E?5G5=<5 4>?7>65G=>EF<, 
65EF>>EF<, E<47O64=<O 
33. �<=5<4F<>4 4<DD5D5=F<4?4. $4E?D545?5=<5 >DGFOM<E <><5=F>6 
4<DD5D5=F<4?>< 
34. $4EG5F 45F4?5= >>=<G5E>>7> 4<DD5D5=F<4?4 
35. �G?4G>>6O= 4<DD5D5=F<4?. $4EG5F 57> M?5<5=F>6 
36. �D<6>4 > 654GM<< >>?5E4<. �47=4G5=<5, E?5F<D<G5E><5 FD55>64=<O, 
>?4EE<D<>4F<O 
37. $4EG5F ?>?G>E5= 
38. �4?>< <>EF>6. $4EG5F=O5 D56<<O 4?O D4EG5F4 54?>> 
39. $4EG5F 45F4?5= H>6>D=56>7> E>54<=5=<O 
40. �>465E>4 46F><>5<?O. �47=4G5=<5, E?5F<D<G5E><5 FD55>64=<O, 
>E=>6=O5 M?5<5=FO, >?4EE<D<>4F<O 
41. '?DG74O EF4F<G5E>4O E4D4>F5D<EF<>4 ?>465E><. �5EF>>EFL ?>465E><. 
�<>>EFL ?>465E>< 
42. �>465E>4 E =5?<=5==>= E4D4>F5D<EF<>>=, E?>E>5O ?>?GG5=<O 
=5?<=5==>= E4D4>F5D<EF<><. 
43. �4?D46?ONM55 GEFD>=EF6> ?>465E><. �47=4G5=<5, >?4EE<D<>4F<O, 
?D<<5DO >>=EFDG>F<<. 
44. $4EG5F =4?D46?ONM57> GEFD>=EF64 ?>465E>< 46F><>5<?O. 
45. '?DG7<5 M?5<5=FO ?>465E>< 46F><>5<?O. �47=4G5=<5, >?4EE<D<>4F<O. 
46. �=>7>?<EF>64O D5EE>D4, ?D<=F<? 55 >>=EFDG>F<<. $4EG5F <=>7>?<EF>-

6>= D5EE>DO 
47. �4?>?<EF>64O D5EE>D4. �5 >E>55==>EF<, <5F>4 D4EG5F4.  
48. &>DE<>=O < <E D4EG5F. 
49. �=56<4F<G5E>4O ?>465E>4. �D<=F<? D45>FO, E4D4>F5D<EF<>4 
50. �<>DF<74F>DO. �47=4G5=<5, ?D<=F<? 45=EF6<O, >E=>6=O5 ?4D4<5FDO 
< E4D4>F5D<EF<><. 

 
$5D5D4F 

�D<<5D=O5 F5<O D5D5D4F>6 

1. &5=45=F<< D476<F<O >>=EFDG>F<= 46F><>5<?5=. 
2. �=>7>4<E>>6O5 EF5??5=<O. 
3. �6GE?>F>G=O5 EF5??5=<O. 
4. �?4=5F4D=O5 >>D>5>< ?5D544G. 
5. �D<=F<?O D4EG5F4 < ?>45>D4 ?5D544F>G=OE G<E5? >>D>5>< ?5D544G. 
6. �GF< < =4?D46?5=<O ?>6OH5=<O ��� >>D>5>< ?5D544G. 
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7. �5EEFG?5=G4FO5 FD4=E<<EE<<. 
8. �D5<<GM5EF64 < =54>EF4F>< 64D<4F>D>6. 
9. �E<=ED>==O5 >4D44==O5 H4D=<DO. 
10. %<=ED>==O5 >4D44==O5 H4D=<DO. 
11. �<DD5D5=F<4?O ?>6OH5==>7> FD5=<O. 
12. %4<>5?>><DGNM<5EO 4<DD5D5=F<4?O. 
13. �>F<6=4O ?>465E>4. 
14. �>465E>4 E ?D>7D5EE<6=>= E4D4>F5D<EF<>>=. 
15. &D46<>557>?4E=>5 DG?56>5 G?D46?5=<5. 
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&D55>64=<O > 6O?>?=5=<N D5D5D4F4 
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EFDG>FGD>= GG55=>= 4<EF<??<=O. �D>D<?5=<5 D5D5D4F4 4>?6=> E>>F65FEF6>-
64FL FD55>64=<O<, GF65D645==O< >4D54D>=.  
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�D< >F5=>5 D5D5D4F4 GG<FO645FEO: 
÷ E>>F65FEF6<5 E>45D64=<O D5D5D4F4 74O6?5==>= F5<5; 
÷ ?>?=>F4 D4E>DOF<O F5<O; 
÷ ?5D5G5=L <E?>?L7>64==>= ?<F5D4FGDO; 
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=5>5E>4<<O5 4?O D4EG5F4 44==O5 ?D<=OFL <7 >>=EFDG>F<6=OE E>>5D465=<=. 

�444G4 7. %>EF46<FL ><=5<4F<G5E>GN EE5<G 46GEEFG?5=G4F>= D4744F>G-
=>= >>D>5>< E E>>E=O<< 64?4<< 46F><>5<?O E >>?5E=>= D>D<G?>= 4E4 < >?D5-
45?<FL ?5D544F>G=O5 G<E?4 =4 ?>6OH5==>= EFG?5=< ?D< ?5D544G5 6D4M5=<O =4 
?5D54=<= <>EF. 

�444G4 8. %>EF46<FL ><=5<4F<G5E>GN EE5<G 46GEEFG?5=G4F>= D4744F>G-
=>= >>D>5>< E =5E>>E=O<< 64?4<< 46F><>5<?O E >>?5E=>= D>D<G?>= 6E6 < 
>?D545?<FL ?5D544F>G=O5 G<E?4 =4 ?>6OH5==>= EFG?5=< ?D< ?5D544G5 
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�444G4 9. �?D545?<FL >D<F<G5E>GN G4EF>FG 6D4M5=<O >4D44==>7> 64?4 
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EFDG>F<6=OE E>>5D465=<=. 
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�444G<, ?D54EF46?5==O5 4?O E4<>EF>OF5?L=>7> D4EE<>FD5=<O, 4>?6=O 
5OFL D5H5=O 6 E>>F65FEF6<< E ?5>F<>==O< <4F5D<4?><, 4 F4>65 G4EF<G=> ?> 
>E=>6=>= < 4>?>?=<F5?L=>= ?<F5D4FGD5, ?D<6545==>= 6 D45>G5= ?D>7D4<<5. 
 

�D<F5D<< >F5=>< 7444G 

 

�F5=>4 D5H5=<O 7444G GE?>6=> D475<FL =4 G5FOD5 MF4?4: 

÷ �7=4>><?5=<5 E GE?>6<5< 7444G< (4=4?<7 GE?>6<O 7444G< < 57> 
=47?O4=4O <=F5D?D5F4F<O EE5<>= <?< G5DF56><). 

÷ %>EF46?5=<5 ??4=4 D5H5=<O 7444G< (E>EF46?5=<5 GD46=5=<=, D>D-
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?4? �4> 746<E<F 6O7>>EFL >F F5<?5D4FGDO? 
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=>= < 6>74GH=>= E<EF5< >E?4645=<O. 
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3. �47=4G5=<5, GEFD>=EF6> < D45>F4 >E=>6=OE 4>7<DGN-
M<E E<EF5< >4D5ND4F>D4. 
4. �47=4G5=<5 < ?D<=F<? D45>FO 6E5D56<<=>7> D57G?O-
F>D4 4<75?L=>7> 46<74F5?O. 
5. 'F> F4>>5 >>F4=>6>5 G<E?> 55=7<=4, < >4>>5 E6>=EF6> 
7>DNG5= E<5E< >=> >?D545?O5F? 
6. � G5< ?D<G<=4 4<75?<74F<< 46F><>5<?L=>7> ?4D>4 < 
G65?<G5=<5 6O?GE>4 747>54??>==OE 46F><>5<?5=? 
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1. �47=4G5=<5, ?D<=F<? 45=EF6<O < GEFD>=EF6> 4>>G-
<G?OF>D=>= 54F4D5<. 
2. �F >4><E M>E??G4F4F<>==OE GE?>6<= < >4> 746<E<F 
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<O 746<74=<O. 
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5>> ?5D544G E 45?<F5?5< (=4?D<<5D, �4<��) <?< 45<G?L-
F<??<>4F>D>< (=4?D<<5D, ���). 
6. �47=4G5=<5 < GEFD>=EF6> D4744F>G=>= >>D>5>< ?5-
D544G.  
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8. �4>>6> D47?<G<5 6 >>=EFDG>F<< < E6>=EF64E 4<4-
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�5F5D5GD7 �>7>6>D 7 17 >F 
11.11.20197. 557 >7D4=<G5=<O 6D5<5=< 

6. -�% «.D4=F» EF>-
D>==OO 

http://www.
biblio-
online.ru/ 

��� «.D4=F» �>7>6>D 7 35 >F 
12.12.20177. > D4745?G «�575=44D=O5 
>=<7<» 557 >7D4=<G5=<O 6D5<5=< 

7. -�% «.D4=F» %�� EF>-
D>==OO 

http://www.
biblio-
online.ru/ 

��� «-?5>FD>==>5 <744F5?LEF6> 
.D4=F» �>7>6>D 7290 >F 13.12.2023 7 
% 18.02.2024 ?> 17.02.2025 7. 

8. -�% $���' �� �4?<=<=7D44E>>7> 
�&' «$O5>E>7O=EF65==>5 >5D47>64-
=<5» 

EF>-
D>==OO 

http://lib.klgt
u.ru/jirbis2 

$���' �� �4?<=<=7D44E>>7> �&' 
�<F5=7<>==O= 4>7>6>D 
7 01-308-2021/06 >F 09.04.2021 
E 01.06.2021 557 >7D4=<G5=<O 6D5<5=<. 

9. $�'. 10-11 >?. �74-6> «�D>E65M5-
=<5». �5M5>5D47>64F5?L=O5 ?D54-
<5FO. 3 -�% ���, 

EF>-
D>==OO 

http://e.lanb
ook.com 

�74-6> «�D>E65M5=<5» -�% ���, 
�>7>6>D 7 385 >F 12.07.2023 7. 
E 01.09.2023 4> 31.08.2024 7. 

 

�>EFG? 557 >7D4=<G5=<O G<E?4 ?>?L7>64F5?5=. 

 
10. �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 4<EF<??<=O 

�7GG5=<5 4<EF<??<=O «&5>D<O <5E4=<7<>6 < <4H<=» >EGM5EF6?O5FEO E 
<E?>?L7>64=<5< >?4EE<G5E><E D>D< GG55=OE 74=OF<=: ?5>F<=, ?D4>F<G5E><E 
74=OF<=, E4<>EF>OF5?L=>= D45>FO 6> 6=54G4<F>D=>= >5EF4=>6>5. 

$5>><5=44F<< ?> ?>47>F>6>5 > ?5>F<>==O< 74=OF<O< (F5>D5F<G5E><= 

>GDE). 
�5>F<O O6?O5FEO 654GM5= D>D<>= GG55=OE 74=OF<=. �5>F<O ?D54=47=4G5-

=4 4?O <7?>65=<O ?D5?>4464F5?5< E<EF5<4F<7<D>64==OE >E=>6 =4GG=OE 7=4=<= 
?> 4<EF<??<=5, 4=4?<F<G5E>>= <=D>D<4F<< > 4<E>GEE<>==OE ?D>5?5<4E. �4 
?5>F<<, >4> ?D46<?>, ?>4=<<4NFEO =4<5>?55 E?>6=O5, G7?>6O5 6>?D>EO GG55-
=>= 4<EF<??<=O. 

�4>E<<4?L=O= MDD5>F ?5>F<O 445F F>744, >>744 EFG45=F 74D4=55 7>F>6<FEO 
> ?5>F<>==><G 74=OF<N: 7=4>><<FEO E ?D>5?5<4<< ?5>F<< ?> GG55=<>G <?< ?> 
?D>7D4<<5 4<EF<??<=O. $5>><5=4G5FEO ?D>E<4FD<64FL 74?<E< ?D54O4GM57> 
GG55=>7> 74=OF<O, <EE>4O <7 ?>7<G5E>>7> 54<=EF64 F5< GG55=>= 4<EF<??<=O.  

� E>45 ?5>F<< EFG45=FG F5?5E>>5D47=>: 
%FD5<<FLEO =5 > 4>E?>6=>= 74?<E< <7?4745<>7> ?D5?>4464F5?5< GG55=>7> 

<4F5D<4?4, 4 > >E<OE?5=<N GE?OH4==>7> < 74?<E< E6><<< E?>64<< >E=>6=OE 
D4>F>6, <OE?5= ?5>F>D4; 6OD454FO64FL =46O>< F57<E=>7> <7?>65=<O < =4?<E4-
=<O GG55=>7> <4F5D<4?4, 65EF< 74?<E< «E6><<< E?>64<<», 6<5EF5 E F5<, =5 4>-
?GE>4O <E>465=<O <?< ?>4<5=O E<OE?4 =4GG=OE 6OD465=<=. �?D545?5=<O, =4 
>>F>DO5 >5D4M45F 6=<<4=<5 ?D5?>4464F5?L ?<5> E?>64<<, ?<5> <=F>=4F<5=, 
E?54G5F 74?<EO64FL G5F>>, 4>E?>6=>. �4> ?D46<?>, F4><5 >?D545?5=<O ?D5?>44-
64F5?L ?>6F>DO5F =5E>>?L>> D47 <?< 445F ?>4 74?<EL. 

1. �EF46?OFL 6 F5FD44< 4?O >>=E?5>F4 ?5>F<< H<D>><5 ?>?O, ?<5> 65EF< 
74?<E< =4 >4=>= EFD4=<F5. -F> =G6=> 4?O F>7>, GF>5O 6 44?L=5=H5< <>6=> 5O-
?> 5O 6=>E<FL =5>5E>4<<O5 4>?>?=5=<O 6 E>45D64=<5 ?5>F<< <7 D47?<G=OE <E-
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F>G=<>>6: <>=>7D4D<=, GG55=OE ?>E>5<=, ?5D<>4<>< < 4D. 
2.  �<E4FL =4764=<5 F5<O, GG55=O5 6>?D>EO ?5>F<< =4 =>6>= EFD4=<F5 

F5FD44<, GF>5O ?57>> <>6=> 5O?> =4=F< =5>5E>4<<O5 GG55=O= <4F5D<4?. 
3.  �4G<=4FL >464GN =>6GN <OE?L, =>6O= DD47<5=F ?5>F<< E >D4E=>= 

EFD>><; 747>?>6>< < ?>4747>?>6><, 646=5=H<5 ?>?>65=<O, =4 >>F>DO5 >5D4M45F 
6=<<4=<5 ?D5?>4464F5?L, 4 F4>65 >?D545?5=<O 6O45?OFL: 5G>64<< 5>?LH57> 
D47<5D4, G5D=<?4<< 4DG7>7> F65F4, ?<5> ?>4G5D><64FL. 

4.  �G<5D>64FL �EFD5G4NM<5EO 6 ?5>F<< ?5D5G<E?5=<O F<DD4<<: 1, 2, 3, 
<?< 5G>64<<: 4, 5, 6.. .. �5D5G<E?5=<O ?GGH5 74?<EO64FL EF>?5F><. &4>4O 74?<EL 
?D<445F >>=E?5>FG 5>?LHGN =47?O4=>EFL < E?>E>5EF6G5F ?GGH5<G 74?><<=4-
=<N GG55=>7> <4F5D<4?4.  

5.  �OD45>F4FL G4>5=GN < ?>=OF=GN 4?O E55O E<EF5<G E>>D4M5=<= < 
GE?>6=OE >5>7=4G5=<=. -F> M>>=><<F 6D5<O, ?>76>?O5F 74?<EO64FL <4F5D<4? 
>464>= ?5>F<< ?>GF< 4>E?>6=>, 445F 6>7<>6=>EFL E>>=F5=FD<D>64FL 6=<<4=<5 
=4 E>45D64=<< <7?4745<>7> <4F5D<4?4, 4 =5 =4 <5E4=<G5E>>< ?D>F5EE5 >>=-
E?5>F<D>64=<O. 

�> >>>=G4=<N ?5>F<< F5?5E>>5D47=> 4>D454FO64FL 55 >>=E?5>F 6> 6D5<O 
E4<>EF>OF5?L=>= D45>FO 6 F>F 65 45=L, 6 >D4==5< E?GG45, =5 ?>74=55, G5< E?G-
EFO 2-3 4=O ?>E?5 55 ?D>E?GH<64=<O. -F> 646=> ?>F><G, GF> 5M5 =5 745OF GG55-
=O= <4F5D<4? ?5>F<<, EFG45=F =4E>4<FEO ?>4 55 6?5G4F?5=<5<, >4> ?D46<?>, OE-
=> ?><=<F G>474=<O ?D5?>4464F5?O, E>D>H> >E>7=45F, GF> 5<G =5?>=OF=> <7 <4-
F5D<4?4 ?5>F<<.  

$5>><5=44F<< ?> ?>47>F>6>5 > ?D4>F<G5E><< 74=OF<O<. %FG45=F4< 
E?54G5F ?D<=>E<FL E E>5>= D5>><5=4>64==GN ?D5?>4464F5?5< ?<F5D4FGDG > 
>>=>D5F=><G 74=OF<N. �4<5>?55 F5?5E>>5D47=4O EFD4F57<O E4<>EF>OF5?L=>= 
?>47>F>6><EFG45=F4 > ?D4>F<G5E>><G 74=OF<N 74>?NG45FEO 6 F><, GF>5O =4 ?5D-
6>< MF4?5 GE6><FL E>45D64=<5 6E5E 6>?D>E>6 ?D4>F<G5E>>7> 74=OF<O, >5D4M4O 
6=<<4=<O =4 G7?>6O5 ?D>5?5<O, 6O45?5==O5 ?D5?>4464F5?5< 6 E>45 ?5>F<< ?<-
5> >>=EG?LF4F<< > ?D4>F<G5E>><G 74=OF<N. �?O MF>7> =5>5E>4<<>, >4> <<=<<G<, 
?D>G<F4FL >>=E?5>F ?5>F<< < GG55=<>, ?<5> GG55=>5 ?>E>5<5. %?54GNM<= MF4? 
?>47>F>6>< 74>?NG45FEO 6 6O5>D5 6>?D>E4 4?O 5>?55 7?G5>>>7> <7GG5=<O E <E-
?>?L7>64=<5< 4>?>?=<F5?L=>= ?<F5D4FGDO. �> MF><G 6>?D>EG EFG45=F EF4=5F 
7?46=O< E?5F<4?<EF>< =4 ?D4>F<G5E>>< 74=OF<<. &5==>EFL 6OEFG??5=<O EFG45=-
F4 =4 ?D4>F<G5E>>< 74=OF<< 6>7D4EF5F, 5E?< 6 E>45 D45>FO =44 ?<F5D4FGD>= >= 
E>?>EF46<F D47=O5 F>G>< 7D5=<O =4 FG <?< <=GN ?D>5?5<G. 

�>E?5 <7GG5=<O < >5>5M5=<O <=D>D<4F<<, >>F>DGN E>45D64F <EF>G=<>< < 
?<F5D4FGD4, E>EF46?O5FEO D4765D=GFO= <?< >D4F><= ??4= 6OEFG??5=<O. �>>=G4-
F5?L=O= 64D<4=F ??4=4 6OEFG??5=<O 6 <454?5 65?4F5?L=> <<5FL =5 F>?L>> =4 
5G<475, => < 6 7>?>65, <7?474O =4 74=OF<< ?>47>F>6?5==O= 6>?D>E 6 E6>5>4=>= 
D>D<5, =4<7GEFL, GF> ?><>65F ?GGH5<G 74>D5??5=<N GG55=>7> <4F5D<4?4, EF4=5F 
E>D>H5= FD5=<D>6>>= G65D5==>EF< 6 E6><E E<?4E. �D< =5>5E>4<<>EF< =5 6>7-
5D4=O5FEO «?>47?O4O64FL» 6 ??4= =4 ?<EF>5 5G<47<, GF>5O =5 >H<5<FLEO 6 F<D-
D4E, F>G=55 ?5D544FL E>45D64=<5 F<F4F, =5 745OFL >4>>=-F> 646=O= EN65F F5<O 
6OEFG??5=<O. 

� E>45 D45>FO =4 ?D4>F<G5E>>< 74=OF<< >F EFG45=F4 FD55G5FEO ?>EF>O==O= 
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E4<>>>=FD>?L. �7> ?5D6O< >5N5>F>< 4>?6=> 5OFL 6D5<O, >F6545==>5 ?D5?>4464-
F5?5< =4 6OEFG??5=<5. �5 E?54G5F 7?>G?>FD55?OFL 6D5<5=5<. �>EF><=EF6>< >D4-
F>D4 O6?O5FEO EFD5<?5=<5 > ?4>>=<G=>EF<, => =5 6 GM5D5 4D7G<5=F<D>64==>EF< < 
E>45D64F5?L=>EF< 6OEFG??5=<O. 

%?GH4O 6OEFG??5=<O =4 ?D4>F<G5E>>< 74=OF<< <?< D5??<>< 6 E>45 4<E>GE-
E<<, 646=> =4GG<FLEO G6464FL <=5=<5 E>55E54=<>4, =5 ?5D55<64FL 57>, 4464O 
6>7<>6=>EFL ?>?=>EFLN 6OE>474FL E6>N F>G>G 7D5=<O. 

%FG45=F4<, ?D>?GEF<6H<< 74=OF<O (=5746<E<<> >F ?D<G<=), =5 <<5NM<5 
?<EL<5==>7> D5H5=<O 7444G <?< =5 ?>47>F>6<6H<5EO > 44==><G ?D4>F<G5E>><G 
74=OF<N, D5>><5=4G5FEO =5 ?>765 G5< 6 2-=545?L=O= ED>> O6<FLEO =4 >>=EG?L-
F4F<N > ?D5?>4464F5?N < >FG<F4FLEO ?> F5<5, <7GG46H<=EO =4 74=OF<<. %FG45=-
FO, =5 >FG<F46H<5EO ?> >464>= =5 ?D>D45>F4==>= <<< =4 74=OF<OE F5<5 > =4G4-
?G 74G5F=>= E5EE<<, G?GE>4NF 6>7<>6=>EFL ?>?GG<FL ?>?>65==O5 54??O 74 D4-
5>FG 6 E>>F65FEF6GNM5< E5<5EFD5. 

�>>?44 3 MF> ?G5?<G=>5 E>>5M5=<5, ?D54EF46?ONM55 E>5>= D4765D=GF>5 
<7?>65=<5 =4 >?D545?5==GN F5<G. �= >F?<G45FEO >F 6OEFG??5=<= 5>?LH<< 
>5N5<>< 6D5<5=< 3 20-25 <<=GF (6OEFG??5=<O, >4> ?D46<?>, >7D4=<G5=O 10-12 
<<=GF4<<). �>>?44 F4>65 ?>E6OM5= 5>?55 H<D>>><G >DG7G 6>?D>E>6, G5< 6O-
EFG??5=<5.  

&<?<G=4O >H<5>4 4>>?44G<>>6 6 F><, GF> >=< <7?474NF E>45D64=<5 ?D>-
5?5< 4>>?444 O7O>>< >=<7< < 6GD=4?>6, >>F>DO= FDG4=> 6>E?D<=<<45FEO =4 
E?GE. 'EF=4O < ?<EL<5==4O D5GL EFD><FEO ?>-D47=><G. �4<5>?55 G4>5=4O 4?O 
E?GE>6>7> 6>E?D<OF<O DD474 E>45D6<F 5-9 E<OE?>6OE 54<=<F, ?D><7=>E<<OE =4 
>4=>< 674>E5. -F> E>>F65FEF6G5F >5N5<G >?5D4F<6=>= ?4<OF< G5?>65>4. � ?5D6O5 
5 E5>G=4 4>>?444 E?>64, ?D><7=5E5==O5 EFG45=F><, G45D6<64NFEO 6 ?4<OF< 57> 
4G4<F>D<< >4> 76GG4=<5. &5?5E>>5D47=> ?>MF><G 74 5 E5>G=4 ED>D<<D>64FL 74-
65DH5==GN DD47G. -F> >55E?5G<645F 55 >E<OE?5=<5 E?GH4F5?O<< 4> ?>EFG??5-
=<O =>6>7> >5N5<4 <=D>D<4F<<. 

�DG74O F<?<G=4O >H<5>4 4>>?44G<>>6 E>EF><F 6 F><, GF> << =5 G445FEO 6O-
45D64FL 6D5<O, >F6545==>5 =4 4>>?44. 'F>5O <75564FL MF>= >H<5><, =5>5E>4<-
<>, =4>4=G=5 ?D>G<F4FL 4>>?44, 6OOE=<6, E>>?L>> 6D5<5=< ?>FD55G5FEO =4 57> 
GF5=<5. �?O G4>5EF64 65?4F5?L=> ?DO<> =4 EFD4=<F4E 4>>?444 ?D>65EF< D4EG5F 
6D5<5=<, >F<5G4O, E>>?L>> >D<5=F<D>6>G=> G=45F =4 GF5=<5 2, 4 EFD4=<F < F.4.  

�465DH5=<5 D45>FO =44 4>>?44>< ?D54?>?4745F 6O45?5=<5 6 57> F5>EF5 
7?46=OE <OE?5=, 4D7G<5=F>6, D4>F>6 E ?><>MLN 4574F56, ?>4G5D><64=<5<, <E-
?>?L7>64=<5< D47?<G=OE 7=4>>6, GF>5O E<OE?>6O5 >5D47O 4>>?444 ?D<>5D5?< < 
7D<F5?L=GN =47?O4=>EFL, >5?57G4NMGN D45>FG E F5>EF>< 6 E>45 6OEFG??5=<O. 

�5F>4<G5E><5 D5>><5=44F<< ?> ?>47>F>6>5 > M>74<5=G. �7GG5=<5 4<E-
F<??<=O 7465DH45FEO E44G5= >5GG4NM<<<EO M>74<5=4. �4 M>74<5=5 >?D545?O5F-
EO >4G5EF6> < >5N5< GE6>5==OE EFG45=F4<< 7=4=<=. �>47>F>6>4 > M>74<5=G 3 
?D>F5EE <=4<6<4G4?L=O=. &5< =5 <5=55, EGM5EF6GNF =5>>F>DO5 ?D46<?4, 7=4=<O 
>>F>DOE <>7GF 5OFL ?>?57=O 4?O 6E5E. 

� E>45 ?>47>F>6>< > M>74<5=G E >F5=>>= >5GG4NM<<EO 4>6>4OFEO 74D4=55 
?>47>F>6?5==O5 6>?D>EO ?> 4<EF<??<=5. �5D5G5=L 6>?D>E>6 4?O M>74<5=4 E>-
45D6<FEO 6 44==>= D45>G5= ?D>7D4<<5. 
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� ?D54465D<< M>74<5=4 ?D5?>4464F5?L 745?47>6D5<5==> ?D>6>4<F 7DG??>6GN 
>>=EG?LF4F<N <, 6 E?GG45 =5>5E>4<<>EF<, <=4<6<4G4?L=O5 >>=EG?LF4F<< E 
>5GG4NM<<<EO. �D< ?D>6545=<< >>=EG?LF4F<< >5>5M45FEO ?D>=45==O= <4F5-
D<4?, D4E>DO645FEO ?>7<>4 57> <7GG5=<O, ?D<6?5>45FEO 6=<<4=<5 > 6>?D>E4<, 
?D54EF46?ONM<< =4<5>?LH<5 FDG4=>EF< 4?O 6E5E <?< 5>?LH<=EF64 >5GG4N-
M<EEO, D5>><5=4G5FEO ?<F5D4FGD4, =5>5E>4<<4O 4?O ?>47>F>6>< > M>74<5=G. 

�D< ?>47>F>6>5 > M>74<5=G >5GG4NM<5EO 6=<<4F5?L=> <7GG4NF >>=E?5>F, 
D5>><5=4>64==GN ?<F5D4FGDG < 45?4NF >D4F><5 74?<E< ?> >464><G 6>?D>EG. 
&4>4O <5F>4<>4 ?>76>?O5F ?>?GG<FL ?D>G=O5 < E<EF5<4F<7<D>64==O5 7=4=<O, 
=5>5E>4<<O5 =4 M>74<5=5. �4?>7>< GE?5H=>= E44G< M>74<5=4 O6?O5FEO E<EF5<4-
F<G5E>4O D45>F4 =44 GG55=>= 4<EF<??<=>= 6 F5G5=<5 7>44. �4>4=G=5 < 6 ?5D<>4 
M>74<5=4F<>==>= E5EE<< =5>5E>4<<4 < F5?5=4?D46?5==4O ?>47>F>6>4. 

�4G<=4FL ?>6F>D5=<5 D5>><5=4G5FEO 74 <5EOF-?>?F>D4 4> =4G4?4 E5EE<<. 
�>47>F>6>G > M>74<5=G 65?4F5?L=> 65EF<, <EE>4O <7 FD55>64=<= ?D>7D4<<O 
GG55=>= 4<EF<??<=O. -F<< 4>>G<5=F>< D47D5H5=> ?>?L7>64FLEO =4 M>74<5=5. 

�>F>6OEL > M>74<5=G, ?GGH5 6E57> E>G5F4FL ?>6F>D5=<5 ?> ?D<<5D=O< >>=-
FD>?L=O< 6>?D>E4< E ?4D4??5?L=O< ?>6F>D5=<5< ?> ?D>7D4<<5 GG55=>= 4<EF<-
??<=O.  

�E?< 6 D4E?>DO65=<< EFG45=F4 5EFL =5E>>?L>> 4=5= =4 ?>47>F>6>G, F> F5?5-
E>>5D47=> >?D545?<FL 7D4D<> ?D>E>645=<O 6>?D>E>6 <7 D4EG5F4, GF>5O >EF4?>EL 
6D5<O =4 ?>6F>D5=<5 =4<5>?55 FDG4=OE. 

�5GG4NM<5EO, <<5NM<5 744>?65==>EFL <?< =5<E?D46?5==O5 =5G4>6?5-
F6>D<F5?L=O5 >F5=>< ?> E5<<=4DE><< 74=OF<O<, > M>74<5=G =5 4>?GE>4NFEO. 

� E>45 E44G< M>74<5=4 GG<FO645FEO =5 F>?L>> >4G5EF6> >F65F4, => < F5>G-
M4O GE?5645<>EFL >5GG4NM57>EO. �54><>EFL ?>E?5 E44G< M>74<5=4 74>DO645FEO 
< E445FEO 6 GG55=GN G4EFL D4>G?LF5F4. 

 
11. �=D>D<4F<>==O5 F5E=>?>7<< < ?D>7D4<<=>5 >55E?5G5=<5 

�5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< >EGM5EF6?5=<< 
>5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5: 

- F5E=<G5E><5 ED54EF64: >><?LNF5D=4O F5E=<>4 < ED54EF64 E6O7< (?5DE>-
=4?L=O5 >><?LNF5DO, ?D>5>F>D, <=F5D4>F<6=4O 4>E>4, 6<45>>4<5DO, 4>GEF<G5-
E>4O E<EF5<4 < F.4.); 

- <5F>4O >5GG5=<O E <E?>?L7>64=<5< <=D>D<4F<>==OE F5E=>?>7<= (45-
<>=EFD4F<O <G?LF<<54<==OE <4F5D<4?>6 < F.4.);  

- ?5D5G5=L �=F5D=5F-E5D6<E>6 < M?5>FD>==OE D5EGDE>6 (?><E>>6O5 E<EF5-
<O, M?5>FD>==4O ?>GF4, ?D>D5EE<>=4?L=O5, F5<4F<G5E><5 G4FO < D>DG<O, E<-
EF5<O 4G4<> < 6<45> >>=D5D5=F<=, >=?4== M=F<>?>?54<< < E?D46>G=<><; M?5>-
FD>==O5 GG55=O5 < GG55=>-<5F>4<G5E><5 <4F5D<4?O).  

�D>7D4<<=>5 >55E?5G5=<5 (?<F5=7<>==>5 < E6>5>4=> D4E?D>EFD4=O5-

<>5), <E?>?L7G5<>5 6 GG55=>< ?D>F5EE5 
Microsoft Windows 10 PRO �?5D4F<>==4O E<EF5<4 
Microsoft Office (6>?NG45F 6 E55O Word, Ex-
cel, PowerPoint) 

�4>5F >D<E=OE ?D>7D4<< 

Visual Studio %F4DF>64O ??>M44>4 4?O =4?<E4=<O, >F?44>< 
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< E5>D>< >>44 
�><?4E 3D %<EF5<4 FD5E<5D=>7> ?D>5>F<D>64=<O 
Adobe Reader �D>7D4<<4 4?O GF5=<O < D544>F<D>64=<O 

PDF 4>>G<5=F>6 
Adobe InDesign �D>7D4<<4 >><?LNF5D=>= 6UDEF>< (DTP) 
/=45>E 5D4G75D �D4G75D 
7-Zip �DE<64F>D 
Kaspersky Free Antivirus �=F<6<DGE 

 
%?D46>G=4O ?D46>64O E<EF5<4 �>=EG?LF4=F �?NE. http://www.consultant.ru/ 
 

12. �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O =5>5E>4<<>= 4?O >EGM5EF6-

?5=<O >5D47>64F5?L=>7> ?D>F5EE4 

�4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 4<EF<??<=O 6>?NG45F: 
1. �<5?<>F5G=O= D>=4 $���' �� «�47��' <<5=< �.�. �64<5G?4F>64»; 
2. 'G55=O= ?D>F5EE >EGM5EF6?O5FEO 6 >5>DG4>64==>= GG55=>= 4G4<F>D<< 

G>><??5>F>64==O= <4>5F4<<, 47D574F4<< 46F><>5<?5=, G7?4<< < 45F4?O<< 47-
D574F>6, ??4>4F4<< E<EF5< 46<74F5?5=, GEFD>=EF6 47D574F>6 46F><>5<?5=.  

3. �G?LF<<54<==>5 >5>DG4>64=<5 4?O GF5=<O ?5>F<=-?D575=F4F<= < ?D>65-
45=<O ?D4>F<G5E><E 74=OF<=. 

 
13. �E>55==>EF< D54?<74F<< 4<EF<??<=O 4?O <=64?<4>6 < ?<F E >7D4=<-

G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?O-
NFEO E?5F<4?L=O5 GG55=<>< < GG55=O5 ?>E>5<O, <=4O GG55=4O ?<F5D4FGD4, 
?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO 
=5>5E>4<<GN F5E=<G5E>GN ?><>ML. 

4) 4?O E?45>6<4OM<E:  

- =4 M>74<5=5 ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5>5E>4<-
<GN ?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL D4-
5>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<-
EO64O ?>4 4<>F>6>G); 

- 7444=<O 4?O 6O?>?=5=<O, 4 F4>65 <=EFDG>F<O > ?>DO4>5 ?D>6545=<O M>-
74<5=4 74G<FO64NFEO 4EE<EF5=F><; 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 5G<475, =44<>F>6O64NFEO 4EE<-
EF5=FG; 

- >55E?5G<645FEO <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 
?N>E; 

- EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D< =5>5E>4<<>EF< ?D54>EF46?O5FEO 
G65?<G<64NM55 GEFD>=EF6>. 

5) 4?O 7?GE<E < E?45>E?OL4M<E: 

- =4 M>74<5=5 ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5>5E>4<-
<GN ?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL D4-
5>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<-
EO64O ?>4 4<>F>6>G); 

- M>74<5= ?D>6>4<FEO 6 ?<EL<5==>= D>D<5; 
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- >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> 
<E?>?L7>64=<O, ?D< =5>5E>4<<>EF< ?>EFG?4NM<< ?D54>EF46?O5FEO 76G>>GE<?<-
64NM4O 4??4D4FGD4 <=4<6<4G4?L=>7> ?>?L7>64=<O. 

- ?> 65?4=<N EFG45=F4 M>74<5= <>65F ?D>6>4<FLEO 6 ?<EL<5==>= D>D<5. 
6) 4?O ?<F E =4DGL5=<O<< >?>D=>-46<74F5?L=>7> 4??4D4F4 (FO65?O-

<< =4DGL5=<O<< 46<74F5?L=OE DG=>F<= 65DE=<E >>=5G=>EF5= <?< >FEGF-

EF6<O 65DE=<E >>=5G=>EF5=): 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64=-
=O< ?D>7D4<<=O< >55E?5G5=<5< <?< =44<>F>6O64NFEO 4EE<EF5=FG. 

- ?> 65?4=<N EFG45=F4 M>74<5= ?D>6>4<FEO 6 GEF=>= D>D<5. 
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�>?>?=5=<O < <7<5=5=<O 6 D45>GGN ?D>7D4<<G 4<EF<??<=O 

 
�=5E5==O5 <7<5=5=<O =4 20__/20__ GG55=O= 7>4 

 

'&��$���. 

�5D6O= ?D>D5>F>D  
_____________ �. �. �G>4<?>6 

                                                                     «___ » ___________ 20   7. 
 

� ?D>7D4<<G 4<EF<??<=O (<>4G?O) «�>=EFDG>F<O < M>E??G4F4F<>==O5 E6>=-
EF64 &<&&��» 

?> =4?D46?5=<N ?>47>F>6>< 23.03.03 «->E??G4F4F<O FD4=E?>DF=>-
F5E=>?>7<G5E><E <4H<= < >><??5>E>6» 6=>EOFEO E?54GNM<5 <7<5=5=<O: 

&&&&&&&&&&&&&&&&; 
&&&&&&&&&&&&&&&&; 
&&&&&&&&&&&&&&&&; 

 

�D>7D4<<4 ?5D5E<>FD5=4 =4 74E544=<< >4D54DO 

 
�D>F>>>? 7 ___ >F ________ 7. 

�4654GNM<= >4D54D>= 
�DE?4=>6 �. �. /?D>D5EE>D/______________/ 

(D4<<?<O, <<O, >FG5EF6>)(GG5=>5 764=<5)(?>4?<EL) 

 
�4>5D5=> 

�D54E544F5?L <5F>4<G5E>>= >><<EE<< D4>G?LF5F4 
�5?<>>6 �.�.              /4>F5=F/ ______________ 

                         (D4<<?<O, <<O, >FG5EF6                  )(GG5=>5 764=<5)                    (?>4?<EL) 

«____» _______ 207. 
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�<EF D57<EFD4F<< <7<5=5=<= 6 $�� 

7 

?/? 

�><5D4 D4745-

?>6, 745 ?D>-

<76545=O <7-

<5=5=<O 

�>>G<5=F, 6 

>>F>D>< >FD4-

65=O <7<5=5-

=<O 

�>4?<EL $4EL<DD>6>4 

?>4?<E< 

�4F4  

66545=<O 

<7<5=5=<= 

1.      
2.      
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